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£Sv & I : ©ÚzvÓß ÷uºÄ

(£zuõ® ÁS¨¦ ©õnÁºPÐUPõÚx)

÷|µ® : 120 {ªh[PÒ  ö©õzu ©v¨ö£sPÒ : 100

÷uºÄ GÊx£ÁºPÐUPõÚ Âv•øÓPÒ

ÂÚõ ¡À öuõS¨ø£z vÓ¨£uØS •ß öPõkUP¨£mkÒÍ
Âv•øÓPøÍ PÁÚ©õP¨ £iUPÄ®.

1. CÆÂÚõzuõÎÀ ©ÚzvÓøÚ ÷\õvUS® ÂÚõUPÒ
÷PmP¨£mkÒÍx.

2. Cz÷uºÂÀ 100 ÂÚõUPÒ EÒÍÚ. AøÚzvØS®
Pmhõ¯® Âøh¯ÎUP¨£h÷Ásk®.

3. JÆöÁõ¸ ÂÚõÂØS® öPõkUP¨£mkÒÍ ©õØÖ
ÂøhPÎ¼¸¢x \›¯õÚ Âøh°øÚU PshÔ¢x, Aøu
OMR ÂøhzuõÎÀ E›¯ ÁmhzvÀ P¸¨¦ {Ó
£õÀ£õ°sm ÷£ÚõÂÚõÀ wmh ÷Ásk®.

4. C¢u ÂÚõzuõÐUS JxUP¨£mkÒÍ Põ» AÍÄ ªPU
SøÓÁõÚuõP C¸¨£uõÀ G¢u J¸ ÂÚõÂØS® TkuÀ
÷|µzøua ö\»ÁÈUPõ©À ÷|µzøu ªPa ]Ó¢u •øÓ°À
£¯ß£kzuÄ®.

5. HuõÁx J¸ ÂÚõÂØS Âøh öu›¯ÂÀø» GßÓõÀ
Av÷»÷¯ Põ»Âµ¯® ö\´¯õ©À Akzu ÂÚõÂØS
ö\À»Ä®. ÷|µª¸¢uõÀ •u¼À Âmkaö\ßÓ
ÂÚõUPøÍ •¯Ø] ö\´¯Ä®.

6. ÂøhPøÍ PshÔ¯ ÷©ØöPõÒÐ® ÁÈ•øÓPøÍ ÂÚõ
¡ÀöuõS¨¤À G[S ÷Ásk©õÚõ¾® ö\´x
öPõÒÍ»õ®. OMR - ÂøhzuõÎ÷»õ AÀ»x
uÛzuõÎ÷»õ ö\´¯UThõx.

7. JÆöÁõ¸ \›¯õÚ ÂøhUS® J¸ ©v¨ö£s
ÁÇ[P¨£k®.

8. ÷uºÄ •i¢u ¤ÓS OMR ÂøhzuõøÍ ©mk®
AøÓUPsPõo¨£õÍ›h® öPõkUPÄ®. ÂÚõ¡À
öuõS¨ø£ ©õnÁºPÒ Gkzxa ö\À»»õ®.

9. H÷uÝ® Piuz öuõhº¦öPõÒÍ ÷Ási¯ `Ì{ø»
HØ£iß HÊ C»UP £vöÁsønz uÁÓõ©À
SÔ¨¤hÄ®.

£UPzøuz v¸¨¤ £v»ÎUPz
öuõh[PÄ®.

PART - I : MENTAL ABILITY  TEST

(For Student of Class X)

Time : 120 Minutes Max. Marks : 100

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open

the question booklet.

1. This booklet contains questions on Mental Ability

Test.

2. There are 100 questions in this test. All are

compulsory.

3. Choose the correct answer from the options given

for each question and darken the corresponding

circle with black ball point pen in the OMR Answer

Sheet.

4. Since the time allotted for this Question Paper is

very limited, you should make the best use of it by

not spending too much time on any one question.

5. If you do not know the answer to any question, do not

waste time on it and pass on to the next one. If time

permits, you can come back to the left out questions,

which in the first instance and attempt them.

6. Rough work can be done anywhere in the Question

Booklet but not in the OMR Sheet/loose paper.

7. Every correct answer will be awarded one Mark.

8. Handover only the OMR Answer Sheet to the

invigilator after the completion of the test.  Question

Booklets may be retained by the candidate.

9. Quote your seven digit Roll Number without fail for

any future correspondence.

PLEASE TURN OVER THE PAGE AND START

ANSWERING.
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MENTAL ABILITY TEST / ©ÚzvÓß ÷uºÄ

Direction : (Question number 1 to 5)

In each question, the numbers are arranged in a

sequence based on certain principle.  Select the

answer from the given four alternatives under

each sequence.

1. 2, 6, 15, 31, 56,     ?    .

(1) 87 (2) 67

(3) 93 (4) 92

2. 5040, 840, 168, 42, 14,     ?    .

(1) 2 (2) 1

(3) 7 (4) 4

3. 14, 24, 41, 65, 96,     ?    .

(1) 134 (2) 124

(3) 144 (4) 154

4. 2, 3, 4, 4, 6, 12, 16, 12, 36,     ?     , 24

(1) 64 (2) 256

(3) 48 (4) 28

5. 5, 1, 11, 6, 17, 36, 23,     ?    .

(1) 216 (2) 108

(3) 54 (4) 59

têKiw : (édh v© 1 Kjš 5 tiu)

Ñœ¡fhQ« édh¡fëš v©fŸ xU

F¿¥Ã£l éÂæ‹go tçir¥g-

L¤j¥g£LŸsd.  bfhL¡f¥g£LŸs eh‹F

kh‰W éilfëèUªJ rçahd éilia¤

nj®ªbjL¡fÎ«.

1. 2, 6, 15, 31, 56,     ?    .

(1) 87 (2) 67

(3) 93 (4) 92

2. 5040, 840, 168, 42, 14,     ?    .

(1) 2 (2) 1

(3) 7 (4) 4

3. 14, 24, 41, 65, 96,     ?    .

(1) 134 (2) 124

(3) 144 (4) 154

4. 2, 3, 4, 4, 6, 12, 16, 12, 36,     ?     , 24

(1) 64 (2) 256

(3) 48 (4) 28

5. 5, 1, 11, 6, 17, 36, 23,     ?    .

(1) 216 (2) 108

(3) 54 (4) 59
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Direction : (Question number 6 to 10)

Identify the wrong number/letters in the series.

6. 25, 62, 122, 214, 341

(1) 122 (2) 62

(3) 214 (4) 341

7. 1, 3, 7, 15, 31, 65, 127

(1) 7 (2) 31

(3) 15 (4) 65

8. −1, 2, 2, 5, 7, 10, 14, 17, 23, 26

(1) 17 (2) 7

(3) 23 (4) 10

9. AD, EG, IJ, MM, QP, UP

(1) EG (2) UP

(3) QP (4) MM

10. Z8, W5, T2, Q8, N5, K3

(1) K3 (2) T2

(3) Q8 (4) Z8

11. ‘Sea’ is related with ‘Waves’.   Then

‘Candle’ is related to :

(1) rays (2) wax

(3) stand (4) melt

12. Which set of number is like the given set ?

(80, 60, 45)

(1) (16, 12, 9) (2) (16, 12, 5)

(3) (20, 15, 11) (4) (160, 120, 80)

têKiw : (édh v© 6 Kjš 10 tiu)

bfhL¡f¥g£LŸs tçiræš jtwhd v©/

vG¤J¡fis¡ f©l¿aÎ«.

6. 25, 62, 122, 214, 341

(1) 122 (2) 62

(3) 214 (4) 341

7. 1, 3, 7, 15, 31, 65, 127

(1) 7 (2) 31

(3) 15 (4) 65

8. −1, 2, 2, 5, 7, 10, 14, 17, 23, 26

(1) 17 (2) 7

(3) 23 (4) 10

9. AD, EG, IJ, MM, QP, UP

(1) EG (2) UP

(3) QP (4) MM

10. Z8, W5, T2, Q8, N5, K3

(1) K3 (2) T2

(3) Q8 (4) Z8

11. ‘Sea’ v‹gJ ‘Waves’ cl‹ bjhl®òilaJ

våš, ‘Candle’ v‹gJ vjDl‹

bjhl®òila J?

(1) rays (2) wax

(3) stand (4) melt

12. bfhL¡f¥g£LŸs ÏizÍl‹

bghUªJ« Ïiz vJ ?

(80, 60, 45)

(1) (16, 12, 9) (2) (16, 12, 5)

(3) (20, 15, 11) (4) (160, 120, 80)
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Direction : (Question number 13 and 14)

First two terms are connected by some

relationship.  The same relationship is applicable

for the next terms.  Identify the suitable pair.

13. Square : Cube : :

(1) Rectangle : Cuboid

(2) Triangle : Square

(3) Quadrilateral : Cuboid

(4) Cuboid : Rectangle

14. 82 : 9 : :

(1) 5 : 26 (2) 6 : 37

(3) 35 : 6 (4) 26 : 5

15. If ‘tee see pee’ means ‘prepare fruit  juice’,

‘see kee tee’ means ‘Juice is nice’ and

‘lee ree mee’ means ‘it is tall’, which word

means ‘nice’ ?

(1) ree (2) mee

(3) kee (4) pee

16. In a certain code HONEY is written as

HPPHC then FORGE is written as :

(1) FPTJJ (2) FPTJI

(3) FQTJI (4) FPSJI

17. If A=2, T=40 and ACT=48 then TAKE

is :

(1) 68 (2) 58

(3) 74 (4) 76

têKiw : (édh v© 13 k‰W« 14)

ÑnH bfhL¡f¥g£LŸsitfëš Kjš ÏU

cW¥òfŸ xU tifæš bjhl®ò

gL¤j¥g£LŸsd.  mnj bjhl®Ãš mikªj

mL¤j ÏU cW¥òfis nj®ªbjL¡fÎ«.

13. Square : Cube : :

(1) Rectangle : Cuboid

(2) Triangle : Square

(3) Quadrilateral : Cuboid

(4) Cuboid : Rectangle

14. 82 : 9 : :

(1) 5 : 26 (2) 6 : 37

(3) 35 : 6 (4) 26 : 5

15. ‘tee see pee’ v‹gJ ‘prepare fruit  juice’,

‘see kee tee’ v‹gJ ‘Juice is nice’ k‰W«

‘lee ree mee’ v‹gJ ‘it is tall’ vd¥

bghUŸgL« våš, vªj th®¤ij ‘nice’

vd¥ bghUŸgL« ?

(1) ree (2) mee

(3) kee (4) pee

16. HONEY v‹gJ  HPPHC vd

F¿¡f¥g£lhš, FORGE v‹gJ v›thW

F¿¡f¥gL« ?

(1) FPTJJ (2) FPTJI

(3) FQTJI (4) FPSJI

17. A=2, T=40 k‰W« ACT=48 våš,

TAKE v‹gJ :

(1) 68 (2) 58

(3) 74 (4) 76



6

19IXCODE

Direction : (Question number 18 to 21)

The diagram and the numbers/letters follow

certain principle.  Select the missing number/

letter indicated.

18.

(1) 8 (2) 12

(3) 11 (4) 33

19.
4 5 6 7

6 18 28 ?

10 7 8 7

(1) 38 (2) 40

(3) 41 (4) 42

20.

(1) 22 (2) 26

(3) 28 (4) 30

21.

(1) P (2) Q

(3) R (4) T

têKiw : (édh v© 18 Kjš 21 tiu)

bfhL¡f¥g£LŸs gl« k‰W« v©fŸ/

vG¤J¡fŸ Áy F¿¥Ã£l éÂKiwfë‹go

mikªJŸsJ.  éLg£l v©/vG¤Âid¡

nj®Î brŒf.

18.

(1) 8 (2) 12

(3) 11 (4) 33

19.
4 5 6 7

6 18 28 ?

10 7 8 7

(1) 38 (2) 40

(3) 41 (4) 42

20.

(1) 22 (2) 26

(3) 28 (4) 30

21.

(1) P (2) Q

(3) R (4) T
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Direction : (Question number 22 to 24)

First two terms are connected by some

relationship.  The same relationship is applicable

for the next terms in which one is blank space.

Identify the blank space.

22. Tree : Plant : : Woman : ?

(1) boy (2) child

(3) girl (4) mother

23. Roof : floor : : ? : Dark

(1) Tube light (2) Bulb

(3) Bright (4) Black

24. 7 : 50 : : ? : 65

(1) 9 (2) 64

(3) 8 (4) 11

25. Drama is related to Director  in the same

way as ‘Magazine’ is related to :

(1) Story (2) Editor

(3) Reader (4) Printer

têKiw : (édh v© 22 Kjš 24 tiu)

ÑnH bfhL¡f¥g£litfëš  Kjš Ïu©L

cW¥òfŸ xU tifæš

bjhl®ògL¤j¥g£LŸsd.  mnj bjhl®ng

mL¤j ÏU cW¥òfS¡F« bghUªJ«.

éLg£l Ïl¤Â‰F rçahd cW¥Ãid

Ñœ¡F¿¥Ã£LŸs eh‹F kh‰W

éilfëèUªJ nj®ªbjL¡fÎ«.

22. Tree : Plant : : Woman : ?

(1) boy (2) child

(3) girl (4) mother

23. Roof : floor : : ? : Dark

(1) Tube light (2) Bulb

(3) Bright (4) Black

24. 7 : 50 : : ? : 65

(1) 9 (2) 64

(3) 8 (4) 11

25. Drama v‹gJ Director cl‹

bjhl®òilaJ våš, ‘Magazine’ v‹gJ

Ñœ¡f©lt‰WŸ vjDl‹

bjhl®òilaJ ?

(1) Story (2) Editor

(3) Reader (4) Printer
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26. The age of the father is twice the age of

the elder son.  Twelve years hence, the age

of the father will be thrice that of the

younger son.  If the difference between the

elder and younger son is 15, the age of the

father is :

(1) 21 (2) 42

(3) 63 (4) 84

27. In an examination,  a student got thrice as

many sums wrong as he got right.  If he

attended 120 problems in all, the number

of problems incorrectly done is :

(1) 90 (2) 30

(3) 40 (4) 60

28. The number of neither composite nor prime

number in the set of Natural numbers is :

(1) 2 (2) 3

(3) 1 (4) 0

29. In a group of cows and hens, the number

of legs are 16 more than thrice the number

of heads.  The possible number of cows

and hens are respectively :

(1) 20, 4 (2) 4, 20

(3) 18, 6 (4) 6, 18

26. jªijæ‹ taJ mtuJ _¤j kfå‹

taij¥nghš Ïu©L kl§F MF«.

g‹åbu©L tUl§fS¡F¥ ÃwF,

mtuJ taJ mtç‹ Ïisakfå‹

taij¥nghš _‹W kl§fhF«.  mtuJ

_¤j kfD¡F« Ïisa kfD¡F«

cŸs taJ é¤Âahr« 15 våš,

jªijæ‹ taJ :

(1) 21 (2) 42

(3) 63 (4) 84

27. xU nj®éš xU khzt® jtwhf

éilaë¤j fz¡Ffë‹

v©â¡if rçahf éilaë¤j

fz¡Ffë‹ v©â¡ifæ‹ 3

kl§F MF«. m«khzt‹ bkh¤j¤Âš

120 fz¡FfS¡F éilaë¡f

Ka‰Á¤jh® våš,  m«khzt®  jtwhf

éilaë¤j fz¡Ffë‹

v©â¡if :

(1) 90 (2) 30

(3) 40 (4) 60

28. Ïaš v©fëš gF k‰W« gfh v©

m‹¿ cŸs v©fë‹ v©â¡if :

(1) 2 (2) 3

(3) 1 (4) 0

29. gR k‰W« nfhêfis¡ bfh©l

FGéš bkh¤j fhšfë‹ v©â¡if

_‹W kl§F jiyfë‹

v©â¡ifiaél 16 TLjyhF«.

FGéš  cŸs gR k‰W« nfhêfë‹

v©â¡if :

(1) 20, 4 (2) 4, 20

(3) 18, 6 (4) 6, 18
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30. Which of the following statement is

correct ?

(1) The number of real numbers between

1 and 2 is same as 1 and 3.

(2) The first positive real number is 0.

(3) The non-negative integer starts

with 1.

(4) The number of natural numbers is

finite.

31. If South becomes north-east and North

becomes south-west then north-west

becomes :

(1) East (2) West

(3) North (4) South

32. One evening during sunset, a person is

standing facing a pole.  The shadow of the

pole fell exactly to his left.  The person faces

the direction :

(1) South (2) East

(3) West (4) North

30. Ã‹tUtdt‰WŸ vJ jtwhd

T‰whF« ?

(1) 1-¡F« 2-¡F« Ïil¥g£l

bkŒba©fë‹ v©â¡if

1-¡F« 3-¡F« Ïil¥g£l

bkŒba©fë‹ v©â¡if

ngh‹wJ.

(2) äif bkŒba©fë‹ Kjš

v© 0.

(3) Fiwa‰w KG v©fŸ 1-èUªJ

bjhl§F«.

(4) Ïaš v©fë‹ v©â¡if xU

KoÎŸs v©â¡ifæyhdJ.

31. bj‰F v‹gJ tl»H¡F, tl¡F v‹gJ

bj‹nk‰F  våš tl nk‰F v‹gJ :

(1) »H¡F (2) nk‰F

(3) tl¡F (4) bj‰F

32. Nça‹ kiwÍ« xU khiy ntisæš

xUt® xU f«g¤Âid¥ gh®¥gJ nghš

ã‹¿U¡»wh®.  f«g¤Â‹  ãHyhdJ

rçahf mtuJ Ïl¥g¡f« éG»wJ

våš mt® gh®¤ÂU¡F« Âir :

(1) bj‰F (2) »H¡F

(3) nk‰F (4) tl¡F
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33. The number of two digit combinations

having 9 as atleast one of the digits from

the digit  0, 6, 9, 5, 4 is :

(1) 9 (2) 12

(3) 6 (4) 8

34. In a row of students, a boy is 12th from the

left end and 18th from the right end.  The

total number of students is a/an :

(1) prime number

(2) composite number

(3) even number

(4) can’t be predicted

35. Six different bells in a tower toll at the

intervals of 9 sec, 12 sec, 15 sec, 18 sec,

21 sec and 24 sec respectively.  If all of

them toll at 6 am, the next time they toll

together is :

(1) 7.42 am (2) 6.42 am

(3) 8.00 am (4) 9.00 am

33. 9-I Fiwªjg£r« xU Ïy¡fkhfÎ«

0, 6, 9, 5, 4 M»a Ïy¡f§fis¡

bfh©L cUthf¡ Toa <çy¡f

v©fë‹ v©â¡if :

(1) 9 (2) 12

(3) 6 (4) 8

34. khzt®fŸ tçiræš xUt®

Ïl¡nfhoæèUªJ 12-tjhfÎ«,

ty¡nfhoæèUªJ            18-tjhfÎ«

ã‰»wh® våš, m›tçiræš cŸs

bkh¤j khzt®fë‹ v©â¡if

xU :

(1) gfh v©

(2) gF v©

(3) Ïu£il¥gil v©

(4) fhz ÏayhJ

35. xU nfhòu¤Âš 6 éjkhd kâfŸ

9 édhofŸ, 12 édhofŸ, 15 édhofŸ,

18 édhofŸ, 21 édhofŸ k‰W«

24 édhofŸ Ïilbtëæš

xè¡»‹wd.  fhiy 6 kâ¡F mit

mid¤J«  xè¤jhš, Û©L« mit

mid¤J« xnu neu¤Âš xè¡F« neu«

fhiy :

(1) 7.42 (2) 6.42

(3) 8.00 (4) 9.00
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36. In the series  5 8 6 4 9 8 5 4 2 6 7 9 8 1 3 5

4 2, the number of pairs of alternate

numbers have difference 3, is :

(1) 4 (2) 2

(3) 3 (4) 1

37. The arrangement of alphabetical order of

the words :

(a) music (b) monk

(c) minimum (d) maximum

(1) (d), (c), (b), (a)

(2) (a), (c), (d), (b)

(3) (d), (c), (a), (b)

(4) (d), (a), (c), (b)

38. Select the combination of number so that

the letters arranged accordingly will form

a meaningful word :

R  T  F  I  U

1   2  3  4  5

(1) 3, 1, 5, 4, 2 (2) 1, 3, 5, 4, 2

(3) 3, 5, 1, 4, 2 (4) 3, 2, 5, 4, 1

39. The letter ninth to the left of seventeenth

letter from the right end of the English

alphabets is :

(1) B (2) Z

(3) Y (4) A

36. 5 8 6 4 9 8 5 4 2 6 7 9 8 1 3 5 4 2 v‹w v©

bjhlçš mL¤jL¤J tU«

Ïy¡f§fë‹ é¤Âahr« 3

ÏU¡F«goahf cŸs Ïy¡f§fë‹

v©â¡if :

(1) 4 (2) 2

(3) 3 (4) 1

37. ÑnH bfhL¡f¥g£LŸs th®¤ijfë‹

M§»y vG¤J tçir :

(a) music (b) monk

(c) minimum (d) maximum

(1) (d), (c), (b), (a)

(2) (a), (c), (d), (b)

(3) (d), (c), (a), (b)

(4) (d), (a), (c), (b)

38. ÑnHbfhL¡f¥g£LŸs

vG¤J¡fëèUªJ m®¤jKŸs

th®¤ijia cUth¡F« tçir :

R  T  F  I  U

1   2  3  4  5

(1) 3, 1, 5, 4, 2 (2) 1, 3, 5, 4, 2

(3) 3, 5, 1, 4, 2 (4) 3, 2, 5, 4, 1

39. M§»y vG¤J¡fëš ty¡nfhoæ-

èUªJ 17-tJ vG¤Â‰F Ïl¥g¡fkhf

cŸs 9-tJ vG¤J :

(1) B (2) Z

(3) Y (4) A
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40. A group of letters is given which are

numbered 1, 2, 3, 4, 5, 6.  Choose the

combination of numbers, so that letters

arranged form a meaningful word.

R  O  P  N  E  S

1   2   3   4   5  6

(1) 3, 5, 1, 6, 2, 4 (2) 1, 3, 5, 6, 2, 4

(3) 3, 5, 6, 1, 2, 4 (4) 3, 5, 2, 1, 6, 4

Direction : (Question number 41 to 45)

Select from the given diagrams (a), (b), (c) or (d)

the one that illustrates the relationship among

given classes.

    (a)        (b) (c)  (d)

41. Birds, Tigers, Peacocks :

(1) (b) (2) (c)

(3) (a) (4) (d)

42. Languages, Tamil, Telugu :

(1) (a) (2) (b)

(3) (d) (4) none of these

43. Football fans, Cricket fans, Kabadi fans :

(1) (b) (2) (c)

(3) (a) (4) (d)

40. 1, 2, 3, 4, 5, 6 v‹W v©âl¥g£l

vG¤J¡fŸ bfhL¡f¥g£LŸsd.  xU

m®¤jKŸs th®¤ijia cUth¡F«

v©fë‹ Ïizia¡ fh©f.

R  O  P  N  E  S

1   2   3   4   5  6

(1) 3, 5, 1, 6, 2, 4 (2) 1, 3, 5, 6, 2, 4

(3) 3, 5, 6, 1, 2, 4 (4) 3, 5, 2, 1, 6, 4

têKiw : (édh v© 41 Kjš 45 tiu)

x›bthU édhéY« bfhL¡f¥g£LŸs

bjhF¥òfŸ VnjD« xU gl¤Âid (a), (b), (c)

mšyJ (d) ãidÎW¤J»wJ.  édhé‰F

jFªj gl¤Âid nj®ªbjL¡fÎ«.

    (a)        (b) (c)  (d)

41. gwitfŸ, òèfŸ, kæšfŸ :

(1) (b) (2) (c)

(3) (a) (4) (d)

42. bkhêfŸ, jäœ, bjY§F :

(1) (a) (2) (b)

(3) (d) (4)      x‹Wäšiy

43. fhšgªJ uÁf®fŸ, k£ilgªJ uÁf®fŸ,

fgo  uÁf®fŸ :

(1) (b) (2) (c)

(3) (a) (4) (d)
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44. Human-beings, Indians, Tamilians :

(1) (a) (2) (d)

(3) (c) (4) (b)

45. Tamil Nadu, Punjab, Haryana :

(1) (c) (2) (a)

(3) (d) (4) (b)

Direction : (Question number 46 to 50)

In the following figure, Rectangle, Square, Circle

and Triangle represent the regions of rice, gram,

maize and wheat cultivation respectively.  On

the basis of the given figure answer the

questions.

46. Which region cultivates all the four ?

(1) 7 (2) 5

(3) 6 (4) None

47. Which region cultivates only rice ?

(1) 6 (2) 4

(3) 5 (4) 3

44. kåj Ïd«, ÏªÂa®fŸ, jäH®fŸ :

(1) (a) (2) (d)

(3) (c) (4) (b)

45. jäœehL, gŠrh¥, mçahdh :

(1) (c) (2) (a)

(3) (d) (4) (b)

têKiw : (édh v© 46 Kjš 50 tiu)

ÑnH bfhL¡f¥g£LŸs gl¤Âš br›tf«,

rJu«, t£l« k‰W« K¡nfhz« M»ait

Kiwna mçÁ, gaW tiffŸ, nrhs« k‰W«

nfhJik éisÍ«  Ïl§fis¡ F¿¡»wJ.

gl¤Âš  bfhL¡f¥g£LŸs étu§fë‹

mo¥gilæš édh¡fS¡F éilaë¡fÎ«.

46. vªj gFÂæš eh‹F tifahd  gæ®fŸ

gæ® brŒa¥gL»wJ ?

(1) 7 (2) 5

(3) 6 (4) vJÎäšiy

47. vªj gFÂæš mçÁ k£L« gæ®

brŒa¥gL»wJ ?

(1) 6 (2) 4

(3) 5 (4) 3
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48. Which region cultivates wheat and

maize ?

(1) 5 (2) 2

(3) 6 (4) 7

49. Which region cultivates all except rice ?

(1) 1, 8, 9, 10 (2) 2, 8, 9, 10

(3) 1, 7, 8, 9 (4) 1, 4, 7, 9

50. Which region cultivates gram only ?

(1) 9 (2) 7

(3) 8 (4) 10

Direction : (Question number 51 and 52)

Read the given statements and answer the

questions 51 and 52.

(i) A+B means ‘A is the father of B’

(ii) A−B means ‘A is the wife of B’

(iii) A×B means ‘A is the brother of B’

(iv) A÷B means ‘A is the daughter of B’

51. A−B+C means :

(1) A is the mother of C

(2) C is the mother of A

(3) B is the mother of C

(4) C is the mother of B

48. vªj gFÂæš nfhJik k‰W« nrhs«

gæ® brŒa¥gL»wJ ?

(1) 5 (2) 2

(3) 6 (4) 7

49. vªj gFÂæš mçÁ jéu mid¤J«

gæ® brŒa¥gL»wJ ?

(1) 1, 8, 9, 10 (2) 2, 8, 9, 10

(3) 1, 7, 8, 9 (4) 1, 4, 7, 9

50. vªj gFÂæš gaW tiffŸ k£L« gæ®

brŒa¥gL»wJ ?

(1) 9 (2) 7

(3) 8 (4) 10

têKiw : (édh v© 51 k‰W« 52)

ÑnH bfhL¡f¥g£LŸs T‰WfëèUªJ

édh v© 51 k‰W« 52-¡F

éilaë¡fÎ« .

(i) A+B v‹gJ A v‹gt® B -‹ jªij

(ii) A−B  v‹gJ  A v‹gt® B -‹ kidé

(iii) A×B v‹gJ A v‹gt® B -‹ rnfhju®

(iv) A÷B v‹gJ A v‹gt® B -‹ kfŸ

51. A−B+C v‹gJ :

(1) A v‹gt® C -‹ jhŒ

(2) C v‹gt® A -‹ jhŒ

(3) B v‹gt® C -‹ jhŒ

(4) C v‹gt® B -‹ jhŒ
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52. A × B ÷ C :

(1) C is  mother of B

(2) B is  mother of C

(3) A is  mother of C

(4) A is  mother of B

Direction : (Question number 53 to 55)

Study the following information and answer the

questions (53 to 55) given below.  There is a

group of five persons A, B, C, D and E.

(i) A, B and C are Tall

(ii) A, D and E are Educated

(iii) D, C and E are Urban

(iv) A, B and E are Hardworking

53. Which of the following persons is neither

educated nor hardworking ?

(1) A (2) C

(3) D (4) E

54. Which of the following persons is neither

urban nor educated but is hardworking ?

(1) A (2) C

(3) B (4) D

55. Which of the following persons is either

tall or hardworking ?

(1) A, B, C, E (2) all

(3) A, B, D, E (4) A, B, C, D

52. A × B ÷ C v‹gJ :

(1) C v‹gt® B -‹ jhŒ

(2) B v‹gt® C -‹ jhŒ

(3) A v‹gt® C -‹ jhŒ

(4) A v‹gt® B -‹ jhŒ

têKiw : (édh v© 53 Kjš 55 tiu)

ÑnH bfhL¡f¥g£l jftšfis¥ go¤J édh

v© 53 Kjš 55 tiu éilaë¡fÎ«.  xU

FGéš A, B, C, D, E  M»nah® cŸ.

(i) A, B k‰W« C caukhdt®fŸ

(ii) A, D k‰W« E go¤jt®fŸ

(iii) D, C k‰W« E efuthÁfŸ

(iv) A, B k‰W« E fod ciH¥ghëfŸ

53. go¤jt® mšyhjt® k‰W« fod

ciH¥ghë mšyhjt® :

(1) A (2) C

(3) D (4) E

54. fod ciH¥ghë, Mdhš efuthÁÍ«

mšyhjt® k‰W« go¤jtU«

mšyhjt® :

(1) A (2) C

(3) B (4) D

55. caukhdt®fŸ mšyJ fod

ciH¥ghëfŸ :

(1) A, B, C, E (2)   mid¤J«

(3) A, B, D, E (4) A, B, C, D
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56. How many numbers from 1 to 100 are there

each of which is exactly divisible by 6 but

also contain 6 as a digit in it ?

(1) 6 (2) 4

(3) 5 (4) 7

Direction : (Read the passage and answer the

questions 57 and 58)

Five boys P, Q, R, S and T took part in a race.  R

finished before T but behind S.  P finished before

Q but behind T.

57. Who won the race ?

(1) Q (2) P

(3) R (4) S

58. Who got the last place ?

(1) Q (2) S

(3) P (4) T

56. 1 Kjš 100 tiu cŸs v©fëš rçahf

6 -Mš tFgL« k‰W« 6 -I  xU

Ïy¡fkhf¥  bfh©LŸs v©fë‹

v©â¡if :

(1) 6 (2) 4

(3) 5 (4) 7

têKiw : (bfhL¡f¥g£LŸs

g¤Âæid¥ go¤J édh v© 57 k‰W«

58 -¡F éilaë¡fÎ«.)

P, Q, R, S k‰W« T v‹w 5 ÁWt®fŸ

X£l¥gªja¤Âš fyªJbfh©ld®.

R v‹gt® T -¡F K‹ò« S -¡F¥ Ã‹D«

X£l¤ij Ko¤jh®. P v‹gt® Q -¡F K‹ò«

T -¡F Ã‹ò« X£l¤ij Ko¤jh®.

57. gªja¤Âš bt‹wt® ah® ?

(1) Q (2) P

(3) R (4) S

58. gªja¤Âš filÁahf tªjt® ah® ?

(1) Q (2) S

(3) P (4) T
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Direction : (Question number 59 and 60)

Arrange the given words in a meaningful

sequence and choose the most appropriate

sequence from the given alternatives.

59. (a) appendix (b) contents

(c) chapters (d) introduction

(1) (a), (c), (b), (d)

(2) (a), (b), (c), (d)

(3) (d), (c), (b), (a)

(4) (c), (d), (a), (b)

60. (a) protect (b) relief

(c) flood (d) rain

(1) (c), (d), (a), (b)

(2) (c), (a), (d), (b)

(3) (a), (b), (c), (d)

(4) (d), (c), (a), (b)

If ‘−’ means ‘×’, ‘×’ means ‘+’, ‘+’ means

‘÷’ and ‘÷’ means ‘−’ then answer the question

61 and 62.

61. 8+4−3×2÷1=

(1) 8 (2) 7

(3) 22 (4) 21

62. 12×8+2−4÷6=

(1) 7 (2) 16

(3) 18 (4) 8

têKiw : (édh v© 59 k‰W« 60)

bfhL¡f¥g£LŸs th®¤ijfis mt‰¿‹

bghUë‹ mo¥gilæš tçir¥gL¤Â,

rçahd tçiria¤ nj®ªbjL¡fÎ«.

59. (a) appendix (b) contents

(c) chapters (d) introduction

(1) (a), (c), (b), (d)

(2) (a), (b), (c), (d)

(3) (d), (c), (b), (a)

(4) (c), (d), (a), (b)

60. (a) protect (b) relief

(c) flood (d) rain

(1) (c), (d), (a), (b)

(2) (c), (a), (d), (b)

(3) (a), (b), (c), (d)

(4) (d), (c), (a), (b)

‘−’ v‹gJ ‘×’ vdÎ«, ‘×’ v‹gJ ‘+’

vdÎ«, ‘+’ v‹gJ ‘÷’ vdÎ«, ‘÷’ v‹gJ

‘−’ vdÎ« bghUŸgLkhdhš édh

v© 61, 62 -¡F jFªj éilaë¡fÎ«.

61. 8+4−3×2÷1=

(1) 8 (2) 7

(3) 22 (4) 21

62. 12×8+2−4÷6=

(1) 7 (2) 16

(3) 18 (4) 8
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63. If ‘−’ means ‘÷’, ‘+’ means ‘×’, ‘÷’

means ‘−’, ‘×’ means ‘+’ then which of

the following is correct ?

(1) 36−12×6÷3+3=60

(2) 52÷4+5×8−2=36

(3) 42−8×3÷4+3=38

(4) 49−10+8÷4+4=40

64. If 8 * 1=81, 9 * 1=100 then 7 * 1= is :

(1) 50 (2) 64

(3) 51 (4) 48

65. If 37+42=16, 43+54=16, 25+34=14

then 65+35=

(1) 100 (2) 91

(3) 18 (4) 19

Direction : (Question number 66 and 67)

Choose the best alternative as the answer.

66. If A+B > A+C and A+B > A−C then

(1) B > 0

(2) A > 0

(3) C > 0

(4) None of these

67. Danger always involves :

(1) fear (2) help

(3) attack (4) enemy

63. ‘−’ v‹gJ ‘÷’ vdÎ«, ‘+’ v‹gJ ‘×’

vdÎ«, ‘÷’ v‹gJ  ‘−’ vdÎ«, ‘×’

v‹gJ ‘+’ vdÎ« bghUŸgL« våš,

Ã‹tUtdt‰WŸ rçahdij¤

nj®ªbjL¡fÎ«.

(1) 36−12×6÷3+3=60

(2) 52÷4+5×8−2=36

(3) 42−8×3÷4+3=38

(4) 49−10+8÷4+4=40

64. 8 * 1=81 k‰W«  9 * 1=100 våš, 7 * 1=

v‹gJ :

(1) 50 (2) 64

(3) 51 (4) 48

65. 37+42=16, 43+54=16, 25+34=14

våš, 65+35=

(1) 100 (2) 91

(3) 18 (4) 19

têKiw : (édh v© 66 k‰W« 67)

bfhL¡f¥g£LŸs kh‰W éilfëè-

UªJ rçahd éilia¤ nj®ªbj-

L¡fÎ«.

66. A+B > A+C k‰W« A+B > A−C våš,

(1) B > 0

(2) A > 0

(3) C > 0

(4) VJäšiy

67. mgha¤Âš v¥nghJ« ÏU¥gJ :

(1) ga« (2) cjé

(3) jh¡Fjš (4) vÂç
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68. When the time is 4.20 the angle between

the hands of the clock is :

(1) 08 (2) 158

(3) 208 (4) 108

Direction : (Question number 69 to 73)

Read the following information carefully and

answer the questions given below :

(i) There is a group of 5 persons P, Q, R, S

and T.

(ii) Among them there is an Agriculturist, a

Teacher, a Lawyer, a Doctor and an Editor

by profession.

(iii) Three of them P, R and the Editor prefer

meals to tiffin and two of them Q and the

Lawyer prefer tiffin to meals.

(iv) The doctor, S and P are friends to one

another but two of these prefer tiffin to

meals.

(v) Agriculturist is R’s Brother.

69. Who is Doctor ?

(1) Q (2) R

(3) S (4) T

68. kâ 4.20-‹nghJ  fofhu K£fë‹

Ïilna cŸs nfhz« :

(1) 08 (2) 158

(3) 208 (4) 108

têKiw : (édh v© 69 Kjš 73 tiu)

ÑnH bfhL¡f¥g¥g£LŸs étu§fis

ftdkhf¥ go¤J Ã‹tU« édh¡fS¡F

éilaë¡fÎ«.

(i) P, Q, R, S k‰W« T M»nahiu¡ bfh©l

xU FG cŸsJ.

(ii) mt®fëš xU étrhæ, MÁça®,

tH¡f¿P®, kU¤Jt® k‰W«

gÂ¥ghÁça® cŸsd®.

(iii) mt®fSŸ P, R k‰W« gÂ¥ghÁça®

Á‰W©o¡F  gÂyhf rh¥gh£oidÍ«,

Q k‰W« tH¡f¿P® rh¥gh£o‰F

gÂyhf Á‰W©oiaÍ« nj®Î brŒjd®.

(iv) kU¤Jt®, S k‰W«  P _tU«

xUtU¡bfhUt® e©g®fŸ, Mdhš

mt®fëš ÏUt® rh¥gh£o‰F gÂyhf

Á‰W©oæid nj®Î brŒjd®.

(v) R-‹ rnfhju® étrhæ Mth®.

69. kU¤Jt® ah® ?

(1) Q (2) R

(3) S (4) T
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70. Who is Agriculturist ?

(1) T (2) S

(3) R (4) P

71. Which of the following groups prefer

tiffin ?

(1) P, R, T (2) P, R

(3) Q, S (4) P, S

72. Who is Teacher ?

(1) Q (2) R

(3) P (4)  T

73. Who is the Editor ?

(1) T (2) P

(3) Q (4) S

70. étrhæ ah® ?

(1) T (2) S

(3) R (4) P

71. vt® Á‰W©oæid nj®Î brŒjd® ?

(1) P, R, T (2) P, R

(3) Q, S (4) P, S

72. MÁça® ah® ?

(1) Q (2) R

(3) P (4)  T

73. gÂ¥ghÁça® ah® ?

(1) T (2) P

(3) Q (4) S
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Direction : (Question number 74 and 75)

In each of the questions given below, two

statements I and II are followed by the

conclusions numbered 1 and 2.  Read the

conclusion and give the answer.

74. Statement (I)  : All women are mothers

(II) : All mothers are sisters

Conclusion (1)  : All women are sisters

                    (2) : Some women are not

sisters

(1) Only conclusion (1) follows

(2) Only conclusion (2) follows

(3) Either conclusion (1) or (2) follow

(4) Neither conclusion (1) nor (2) follows

75. Statement (I)  : Some books are Tables

(II) : Some Tables are pencils

Conclusion (1) : All books are pencils

 (2) : Some pencils are books

(1) Only conclusion (1) follows

(2) Only conclusion (2) follows

(3) Either conclusion (1) or (2) follow

(4) Neither conclusion (1) nor (2) follows

têKiw : (édh v© 74 k‰W« 75)

Ã‹tU« x›bthU édhéY«  Ïu©L

T‰WfŸ k‰W« Ïu©L KoÎfŸ

bfhL¡f¥g£LŸsd.  fhuz§fis¥  go¤J

rçahd éilaë¡fÎ«.

74. T‰W (I) : mid¤J bg©fS«

jhŒkh®fŸ

 (II) : mid¤J jhŒkh®fS«

rnfhjçfŸ

     fhuz«  (1) : mid¤J bg©fS«

rnfhjçfŸ

                     (2) : Áy bg©fŸ

rnfhjçfŸ mšy

(1) T‰W (1) k£L« rç

(2) T‰W (2) k£L« rç

(3) T‰W (1) mšyJ (2) Ïu©L rç

(4) T‰W (1) k‰W« (2) Ïu©L« jtW

75. T‰W (I)  : Áy ò¤jf§fŸ

nkirfŸ

(II) : Áy nkirfŸ

bg‹ÁšfŸ

fhuz« (1)  : všyh ò¤jf§fS«

bg‹ÁšfŸ

(2) : Áy bg‹ÁšfŸ

ò¤jf§fŸ

(1) T‰W (1) k£L« rç

(2) T‰W (2) k£L« rç

(3) T‰W (1) mšyJ (2) Ïu©L rç

(4) T‰W (1) k‰W« (2) Ïu©L« jtW



22

19IXCODE

Direction : (Question number 76 to 80)

Out of the four figures (1), (2), (3), (4) given in

each problem, three are similar in a certain way.

One figure is not like other three.  Select that

figure.

76.

      (1)    (2) (3)       (4)

77.

     (1)    (2) (3)      (4)

78.

     (1)    (2) (3)       (4)

79.

     (1)     (2) (3)       (4)

80.

     (1)    (2) (3)       (4)

têKiw : (édh v© 76 Kjš 80 tiu)

bfhL¡f¥g£l gl§fŸ (1), (2), (3), (4) -š

_‹W gl§fŸ xU F¿¥Ã£l mik¥Ãš xnu

tifæš mikªJŸsd.  xU gl« k£L«

bghUªjhj tifæš cŸsJ.  mjid nj®Î

brŒf.

76.

      (1)    (2) (3)       (4)

77.

     (1)    (2) (3)      (4)

78.

     (1)    (2) (3)       (4)

79.

     (1)     (2) (3)       (4)

80.

     (1)    (2) (3)       (4)
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têKiw : (édh v© 81 Kjš 85 tiu)

(A), (B), (C), (D) v‹w gl§fis¤ bjhl®ªJ

tu¡Toa gl¤Âid (1), (2), (3) k‰W« (4)

M»at‰¿èUªJ nj®Î brŒaÎ«.

81.

    (A)    (B)          (C)          (D)

     (1)    (2) (3)      (4)

82.

     (A)    (B)           (C)         (D)

     (1)    (2) (3)      (4)

Direction : (Question number 81 to 85)

In each of the following questions find the

answer figures (1), (2), (3) or (4) which would

continue the given series of four figures (A), (B),

(C) and (D).

81.

    (A)    (B)          (C)          (D)

     (1)    (2) (3)      (4)

82.

     (A)    (B)           (C)         (D)

     (1)    (2) (3)      (4)
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83.

     (A)    (B)           (C)          (D)

       (1)     (2)  (3)       (4)

84.

      (A)    (B)           (C)          (D)

      (1)    (2)  (3)       (4)

85.

     (A)    (B)           (C)          (D)

      (1)    (2) (3)       (4)

83.

     (A)    (B)           (C)          (D)

       (1)     (2)  (3)       (4)

84.

      (A)    (B)           (C)          (D)

      (1)    (2)  (3)       (4)

85.

     (A)    (B)           (C)          (D)

      (1)    (2) (3)       (4)
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Direction : (Question number 86 to 88)

Figures A and B are related in some manner.

Find the same relationship between figures

C and D by choosing the alternatives (1), (2),

(3) or (4) to replace the figure in D.

86.

      (A)    (B)    (C)         (D)

               (1)    (2) (3)        (4)

87.

      (A)    (B)    (C)         (D)

      (1)    (2) (3)       (4)

têKiw : (édh v© 86 Kjš 88 tiu)

gl« A k‰W« B M»at‰¿‰F Ïilna xU

bjhl®ò cŸsJ.  mnj bjhl®Ãid C k‰W«

D-¡F Ïilna ga‹gL¤Â, (1), (2), (3)

k‰W« (4) M»a kh‰W éilfëèUªJ

D-Ïš mikaÎŸs gl¤Âid bjçÎ brŒf.

86.

      (A)    (B)    (C)         (D)

               (1)    (2) (3)        (4)

87.

      (A)    (B)    (C)         (D)

      (1)    (2) (3)       (4)
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88.

      (A)    (B)    (C)         (D)

      (1)    (2) (3)        (4)

Direction : (Question number 89 and 90)

Identify the missing portion to complete the

given figure from the  alternatives (1), (2), (3)

and (4).

89.

(1) (2)

(3) (4)

90.

(1) (2)

(3) (4)

88.

      (A)    (B)    (C)         (D)

      (1)    (2) (3)        (4)

têKiw : (édh v© 89 k‰W« 90)

Ñœ¡fhQ«  gl¤Â‹ éLg£l gFÂæid

ÑnH bfhL¡f¥g£LŸs (1), (2), (3), (4) M»a

kh‰W éilfëèUªJ nj®ªbjL¡fÎ«.

89.

(1) (2)

(3) (4)

90.

(1) (2)

(3) (4)
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91. Find the number of quadrilaterals in the

figure :

(1) 0 (2) 2

(3) 3 (4) 4

92. Find the number of triangles in the figure :

(1) 8 (2) 7

(3) 5 (4) 10

91. ÑnH bfhL¡f¥g£LŸs gl¤Âš

mikªJŸs eh‰fu§fë‹

v©â¡ifia¡ f©l¿f :

(1) 0 (2) 2

(3) 3 (4) 4

92. ÑnH bfhL¡f¥g£LŸs gl¤Âš

mikªJŸs K¡nfhz§fë‹

v©â¡if :

(1) 8 (2) 7

(3) 5 (4) 10
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93. xU fd¢rJu m£il¥bg£oæid

Ãç¡F«nghJ Ñœ¡fhQkhW

mik»wJ. 4 k‰W« 5 Kf§fS¡F

vÂnu cŸs Kf§fë‹ v©fŸ

Kiwna :

(1) 2, 6 (2) 6, 2

(3) 1, 3 (4) 2, 4

94. xU gfilia 3 Kiw cU£L«nghJ

Ñœ¡fhQ« 3 bt›ntW ãiyfŸ

bj‹gL»‹wd våš, 3 -¡F

vÂ®¥g¡f« mikªJŸs v©iz¡

fh©f.

(1) 6 (2) 5

(3) 4 (4) 2

93. When a box is unfolded, the figure looked

like the given one.  What are the faces

opposite to 4 and 5 respectively ?

(1) 2, 6 (2) 6, 2

(3) 1, 3 (4) 2, 4

94. A die is thrown three times and its three

different positions are given below.  Find

the number on the face opposite to 3.

(1) 6 (2) 5

(3) 4 (4) 2
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95.  v‹w th®¤ijæ‹ j©Ù®

Ã«g« :

(1) (2)

(3) (4)

96.  v‹w v©â‹ j©Ù® Ã«g« :

(1) (2)

(3) (4)

97.  v‹w th®¤ijæ‹ f©zho

Ã«g« :

(1)

(2)

(3)

(4)

95. The water image of  is :

(1) (2)

(3) (4)

96. The water image of  is :

(1) (2)

(3) (4)

97. The mirror image of  is :

(1)

(2)

(3)

(4)
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98. Ñœ¡fhQ« gl¤Â‹ f©zho Ã«g« :

(1) (2)

(3) (4)

99. 5 FG¡fŸ ml§»a Ah¡» ngh£oæš

x›bthU FGÎ« mL¤j FGÎl‹ xnu

xU Kiw nkhJkhdhš bkh¤j

éisah£Lfë‹ v©â¡if :

(1) 5 (2) 4

(3) 20 (4) 10

100. M§»y vG¤J¡fëš

Ïl¥g¡f¤ÂèUªJ 22 -tJ vG¤Â‰F«

ty¥g¡f¤ÂèUªJ  21 -tJ vG¤Â‰F«

eLéš cŸs vG¤J :

(1) N (2) M

(3) L (4) O

- o O o -

98. The mirror image of the given diagram :

(1) (2)

(3) (4)

99. In a hockey tournament each of 5 teams

will play other team exactly once.  The

number of matches will be played is :

(1) 5 (2) 4

(3) 20 (4) 10

100. Which letter is midway between 22nd

letter from the left and 21st letter from the

right in English alphabets ?

(1) N (2) M

(3) L (4) O

- o O o -
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wºÄPõq® £Sv (©v¨¥miØS Em£mhuÀ»)

FOR ROUGH USE (Not for evaluation)
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wºÄPõq® £Sv (©v¨¥miØS Em£mhuÀ»)

FOR ROUGH USE (Not for evaluation)



£Sv & II : £i¨£ÔÄz vÓß ÷uºÄ

(£zuõ® ÁS¨¦ ©õnÁºPÐUPõÚx)

÷|µ® : 120 {ªh[PÒ   ö©õzu ©v¨ö£sPÒ : 100

÷uºÄ GÊx£ÁºPÐUPõÚ Âv•øÓPÒ
ÂÚõ ¡À öuõS¨ø£z vÓ¨£uØS •ß öPõkUP¨£mkÒÍ
Âv•øÓPøÍ PÁÚ©õP¨ £iUPÄ®.

1. CÆÂÚõzuõÎÀ £i¨£ÔÄz vÓøÚ ÷\õvUS® ÂÚõUPÒ
÷PmP¨£mkÒÍx.

2. Cz÷uºÂÀ 100 ÂÚõUPÒ EÒÍÚ. AøÚzvØS®
Pmhõ¯® Âøh¯ÎUP¨£h ÷Ásk®.

ÂÚõ GsPÒ 101 - 120 Pou®, 121 - 160 AÔÂ¯À,
161 - 200 \‰P AÔÂ¯À £õh[PøÍa \õº¢uøÁ.

3. JÆöÁõ¸ ÂÚõÂØS® öPõkUP¨£mkÒÍ ©õØÖ
ÂøhPÎ¼¸¢x \›¯õÚ Âøh°øÚU PshÔ¢x,
£Sv&I ÷uºÂØS ÁÇ[P¨£mh  OMR ÂøhzuõÎ÷»÷¯
E›¯ ÁmhzvÀ P¸¨¦ {Ó £õÀ£õ°sm ÷£ÚõÂÚõÀ
wmh ÷Ásk®.

4. C¢u ÂÚõzuõÐUS JxUP¨£mkÒÍ Põ» AÍÄ ªPU
SøÓÁõÚuõP C¸¨£uõÀ G¢u J¸ ÂÚõÂØS® TkuÀ
÷|µzøua ö\»ÁÈUPõ©À ÷|µzøu ªPa ]Ó¢u •øÓ°À
£¯ß£kzuÄ®.

5. HuõÁx J¸ ÂÚõÂØS  Âøh öu›¯ÂÀø» GßÓõÀ
Av÷»÷¯ Põ»Âµ¯® ö\´¯õ©À Akzu ÂÚõÂØS
ö\À»Ä®. ÷|µª¸¢uõÀ •u¼À Âmkaö\ßÓ
ÂÚõUPøÍ •¯Ø] ö\´¯Ä®.

6. ÂøhPøÍ PshÔ¯ ÷©ØöPõÒÐ® ÁÈ•øÓPøÍ ÂÚõ
¡ÀöuõS¨¤À G[S ÷Ásk©õÚõ¾® ö\´x
öPõÒÍ»õ®. OMR - ÂøhzuõÎ÷»õ AÀ»x
uÛzuõÎ÷»õ ö\´¯UThõx.

7. JÆöÁõ¸ \›¯õÚ ÂøhUS® J¸ ©v¨ö£s
ÁÇ[P¨£k®.

8. ÷uºÄ •i¢u ¤ÓS OMR ÂøhzuõøÍ ©mk®
AøÓUPsPõo¨£õÍ›h® öPõkUPÄ®. ÂÚõ¡À
öuõS¨ø£ Gkzxa ö\À»»õ®.

9. H÷uÝ® Piuz öuõhº¦öPõÒÍ ÷Ási¯ `Ì{ø»
HØ£iß HÊ C»UP £vöÁsønz uÁÓõ©À
SÔ¨¤hÄ®.

£UPzøuz v¸¨¤ £v»ÎUPz
öuõh[PÄ®.

PART - II : SCHOLASTIC APTITUDE TEST

(For Student of Class X)

Time : 120 Minutes Max. Marks : 100

INSTRUCTIONS TO CANDIDATES

Read the following instruction carefully before you open

the Question Booklet.

1. This booklet contains question on Scholastic

aptitude.

2. There are 100 questions in this test.  All are

compulsory.

The Question Numbers 101 - 120 belong to

Mathematics, 121 - 160 pertain to Science and

161 - 200 are Social Science subjects.

3. Choose the correct answer from the options given

for each question and darken the corresponding

circle with black ball point pen in the same OMR

Answer Sheet provided for Part-I.

4. Since the time allotted for this Question Paper is

very limited, you should make the best use of it by

not spending too much time on any one question.

5. If you do not know the answer to any question, do not

waste time on it and pass on to the next one. If time

permits, you can come back to the left out questions,

which in the first instance and attempt them.

6. Rough work can be done anywhere in the Question

Booklet but not in the OMR sheet/loose paper.

7. Every correct answer will be awarded one Mark.

8. Handover only the OMR Answer Sheet to the

Invigilator after the completion of the test.

Question Booklets may be retained by the

candidate.

9. Quote your seven digit Roll Number without fail for

any future correspondence.

PLEASE TURN OVER THE PAGE AND START

ANSWERING.

1
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Roll No.



2

19IIXCODE



3

19IIXCODE

MATHEMATICS / Pou®

101. 1771 -I gfh¡ fhuâ¥gL¤J« nghJ

mªj¥ gfh v©fë‹ mL¡Ffë‹

TLjš :

(1) 1 (2) 3

(3) 2 (4) 4

102. t
n
 v‹gJ xU T£L¤ bjhlh¦ tçiræ‹

n -MtJ cW¥ò våš t
n+1

−t
n−1

 Ï‹

kÂ¥ò :

(1) 2a (2) −2a

(3) 2d (4) −2d

103. x+y=3, x2+y2=5 våš xy -‹ kÂ¥ò :

(1) 5 (2) 3

(3) 2 (4) 1

104. (−2, 0) (0,−2) k‰W« (2, 0) M»a

òŸëfshš mik¡f¥gL«

K¡nfhz¤Â‹ gu¥ò :

(1) 0 (2) 4

(3) 2 (4) −4

101. The sum of the exponents of prime factors

in the prime factorization of 1771 is :

(1) 1 (2) 3

(3) 2 (4) 4

102. If t
n
 is the nth term of an A.P. then the

value of t
n+1

−t
n−1

 is :

(1) 2a (2) −2a

(3) 2d (4) −2d

103. If x+y=3, x2+y2=5 then xy is :

(1) 5 (2) 3

(3) 2 (4) 1

104. The area of the triangle formed by the

points (−2, 0) (0,−2) and (2, 0) is :

(1) 0 (2) 4

(3) 2 (4) −4
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105. The area of equilateral triangle is

25 3  cm2, then the perimeter is :

(1) 10 cm (2) 30 cm

(3) 10 3 cm (4) 30 3 cm

106. If the ratio of the surface areas of two

cubes is 16 : 36, then the ratio of their sides

will be :

(1) 4 : 9 (2) 9 : 4

(3) 3 : 2 (4) 2 : 3

107.
+  

1

1 sinθ
+

−  

1

1 sinθ
= ?

(1) sec2θ (2) 2 sec2θ

(3) cosec2θ (4) 2 cosec2θ

108. Given that sinA=
1

2
 and cosB=

1

2
 then

the value of A+B is :

(1) 308 (2) 458

(3) 758 (4) 158

105. xU rkg¡f K¡nfhz¤Â‹ gu¥gsÎ

25 3  br.Û.2 våš, mj‹ R‰wsÎ :

(1) 10 br.Û. (2) 30 br.Û.

(3) 10 3 br.Û. (4) 30 3 br.Û.

106. ÏU fdrJu§fë‹ òw¥gu¥òfë‹

é»jkhdJ 16 : 36 våš, mj‹

g¡f§fë‹ é»j§fŸ :

(1) 4 : 9 (2) 9 : 4

(3) 3 : 2 (4) 2 : 3

107.
+  

1

1 sinθ
+

−  

1

1 sinθ
= ?

(1) sec2θ (2) 2 sec2θ

(3) cosec2θ (4) 2 cosec2θ

108. sinA=
1

2
 k‰W« cosB=

1

2

 våš

A+B Ï‹ kÂ¥ò :

(1) 308 (2) 458

(3) 758 (4) 158
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109. If 5 tanθ=4 then the value of

θ − θ

θ + θ

5 sin 4 cos

5 sin 4 cos
 is :

(1)
5

4
(2)

4

5

(3) 1 (4) 0

110. If cos (A−B)=
3

2
 and sin (A+B)=1

then the value of A and B is :

(1) 458 and 158

(2) 308 and 158

(3) 608 and 308

(4) none of these

111. Which statement is true ?

(1) A triangle can have two right angles

(2) Each of the angles of a triangle can

be less than 608

(3) Each of the angles of a triangle can

be greater than 608

(4) Each of the angles of a triangle can

be equal to 608

109. 5 tanθ=4 våš, 
5 sin 4 cos

5 sin 4 cos

θ− θ

θ+ θ
 = ?

(1)
5

4
(2)

4

5

(3) 1 (4) 0

110. cos (A−B)=
3

2
 k‰W« sin (A+B)=1

våš A k‰W« B -‹ kÂ¥ghdJ :

(1) 458 k‰W« 158

(2) 308 k‰W« 158

(3) 608 k‰W« 308

(4) Ït‰¿š VJäšiy

111. Ït‰¿š vªj T‰W c©ikahdJ?

(1) xU K¡nfhz¤Âš Ïu©L

br§nfhz§fŸ ÏU¡f KoÍ«.

(2) xU K¡nfhz¤Â‹ x›bthU

nfhzK« 608-I él¡ Fiwthf

ÏU¡f KoÍ«.

(3) xU K¡nfhz¤Â‹ x›bthU

nfhzK« 608-I él mÂfkhf

ÏU¡F«.

(4) xU K¡nfhz¤Â‹ x›bthU

nfhzK« 608-Mf ÏU¡F«.
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112. If the diagonals of a rhombus are 18 cm

and 24 cm, then its side is :

(1) 16 cm

(2) 15 cm

(3) 20 cm

(4) 17 cm

113. Which of the following numbers will

completely divide 461+462+463+464 ?

(1) 3 (2) 10

(3) 11 (4) 13

114. The diagonal of a rectangle is 41  cm and

its area is 20 cm2.  The perimeter of a

rectangle must be :

(1) 9 cm

(2) 18 cm

(3) 20 cm

(4) 41 cm

112. xU rhŒ rJu¤Â‹ _iyé£l§fë‹

Ús§fŸ 18 br.Û. k‰W« 24 br.Û. våš

mj‹ g¡f msÎ :

(1) 16 br.Û.

(2) 15 br.Û.

(3) 20 br.Û.

(4) 17 br.Û.

113. Ã‹tUtdt‰¿š vªj v©

461+462+463+464 -I ÛÂæ‹¿

tF¡F« :

(1) 3 (2) 10

(3) 11 (4) 13

114. xU br›tf¤Â‹ _iyé£l«

41 br.Û. k‰W« mj‹ gu¥ò 20 br.Û.2

våš, mj‹ R‰wsÎ :

(1) 9 br.Û.

(2) 18 br.Û.

(3) 20 br.Û.

(4) 41 br.Û.
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115. 108000000 ».Û. -‹ m¿éaš F¿pL :

(1) 1.08000000 ».Û.

(2) 10.80×106 ».Û.

(3) 1.08×106 ».Û.

(4) 1.08×108 ».Û.

116. 1 Kjš 50 v©fŸ F¿¡f¥g£l

m£ilfŸ it¡f¥g£LŸs bg£oæš

e‹whf FY¡»a Ã‹ rkthŒ¥ò Kiwæš

xU m£il  njh¦ªbjL¡f¥g£lhš mJ

5 -Ï‹ kl§fhf ÏU¥gj‰fhd ãfœjfÎ :

(1)
1

5

(2) 0

(3)
1

25

(4) 1

117. x−y=0 v‹w neh¦nfhL tiu¥gl¤Âš

v¥òŸë têna brš»wJ ?

(1) (2, 3)

(2) (3, 4)

(3) (5, 6)

(4) (0, 0)

115. The scientific notation of 108000000 km

is :

(1) 1.08000000 km

(2) 10.80×106 km

(3) 1.08×106 km

(4) 1.08×108 km

116. Cards are marked from 1 to 50 are placed

in the box and mixed thoroughly, a card

is drawn at random from the box.  What

is the probability of this card to be a

multiple of 5 ?

(1)
1

5

(2) 0

(3)
1

25

(4) 1

117. The graph of the line x−y=0 passes

through the point.

(1) (2, 3)

(2) (3, 4)

(3) (5, 6)

(4) (0, 0)
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118. If (9x+7), (2x+9) are the factors of a

quadratic polynomial, then the co-efficient

of x is :

(1) 9

(2) 2

(3) 18

(4) 95

119. ( )
1
4

1 1
3 3

3

Simplify : 5 8 27
 
 
 

 + 

(1) 3

(2) 27

(3) 8

(4) 5

120. The numbers 2, 3, 4, 4, 2x+1, 5, 5, 6, 7 are

written in ascending order.  If the median

is 5, then find x.

(1) 2

(2) 3

(3) 4

(4) 5

118. (9x+7), (2x+9) v‹git xU

ÏUgo¡nfhitæ‹ fhuâfŸ våš

x -‹ bfG :

(1) 9

(2) 2

(3) 18

(4) 95

119. RU¡Ff : ( )
1
4

1 1
3 3

3

5 8 27
 
 
 

 + 

(1) 3

(2) 27

(3) 8

(4) 5

120. 2, 3, 4, 4, 2x+1, 5, 5, 6, 7 M»a v©fŸ

VW tçiræš vGj¥g£LŸsd. mj‹

Ïilãiy msÎ 5 våš x -Ï‹

kÂ¥ig¡ fh©f :

(1) 2

(2) 3

(3) 4

(4) 5
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SCIENCE / AÔÂ¯À

121. Lactometer is an instrument which works

on the principle of ?

(1) Law of Floatation

(2) Newton’s Law

(3) Ohm’s Law

(4) Avogadro’s Law

122. A 250 kg bike is ridden by a circus man at

a speed of 20 m/sec.  in a circular path of

diameter 100 m.  Calculate its acceleration.

(1) 4 m/sec2

(2) 6 m/sec2

(3) 8 m/sec2

(4) 9 m/sec2

123. Find the odd one out :

(1) 30.8×1015 m

(2) 9.46×1015 m

(3) 1.496×1011 m

(4) 3.08×1016 m

121. ghškhå fUé vªj éÂæ‹

mo¥gilæš Ïa§F»wJ ?

(1) äj¤jš éÂ

(2) ãô£l‹ éÂ

(3) X«° éÂ

(4) mtfh£nuh éÂ

122. rh¦¡f°fhuh¦ xUth¦, 250 ».». ãiwÍŸs

ÏU r¡fu thfd¤Âid 100 Û.

é£lKŸs t£l¥ghijæš 20 Û./édho

ntf¤Âš R‰¿ tU»whh¦ våš, ÏU

r¡fu thfd¤Â‹ ÛJ brašgL«

KL¡f« ahJ ?

(1) 4 Û./édho2

(2) 6 Û./édho2

(3) 8 Û./édho2

(4) 9 Û./édho2

123. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) 30.8×1015 Û

(2) 9.46×1015 Û

(3) 1.496×1011 Û

(4) 3.08×1016 Û
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124. The spectacular glow of diamond is due

to :

(1) Refraction

(2) Reflection

(3) Total Internal Reflection

(4) Scattering of Light

125. A song was heard by a person who is at

certain distance from a temple wherein the

frequency of the sound is  3 kHz and the

wavelength 20 cm.  If the sound reaches

the person in 5 seconds find the distance

travelled by the sound.

(1) 5 km

(2) 2 km

(3) 4 km

(4) 3 km

124. itu« Ãufhrkhf b#hè¥gj‰fhd

fhuz« :

(1) xë éyfš

(2) vÂbuhë¥ò

(3) KG mf vÂbuhë¥ò

(4) xë¢ Ájwš

125. nfhéèèUªJ r‰W öu¤ÂYŸs

xUth¦, 3 »nyh bAh¦£° mÂh¦bt©

k‰W« 20 br.Û. miyÚs« bfh©l

ghliy nf£»whh¦. m¥ghlè‹ xè,

5 édho neu¤Âš mtiu tªjil»wJ

våš, m›bthè flªJŸs öu« ahJ ?

(1) 5 ».Û.

(2) 2 ».Û.

(3) 4 ».Û.

(4) 3 ».Û.
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126. If a current of 5 A flows through the

heater and the amount of heat produced

is 54000 J in 6 minutes, then find the

resistance of the electric heater.

(1) 6 Ω (2) 5 Ω

(3) 7 Ω (4) 4 Ω

127. Match the following :

(a) Formation of real (i) Pupil

and inverted

images of objects

(b) Controls the (ii)    Cornea

amount of light

entering the pupil

(c) Pathway of the light (iii) Iris

to retina

(d) Refracts or bends the (iv) Retina

light onto the lens

(1) (a) - (iv), (b) - (iii), (c) - (i), (d) - (ii)

(2) (a) - (iv), (b) - (iii), (c) - (ii), (d) - (i)

(3) (a) - (iii), (b) - (iv), (c) - (ii), (d) - (i)

(4) (a) - (ii), (b) - (i), (c) - (iii), (d) - (iv)

126. 5 A ä‹ndh£lkhdJ xU ä‹ Nnl‰¿

têahf ghÍ« nghJ 6 ãäl§fëš

cUthF« bt¥g msÎ 54000 J våš,

mj‹ ä‹jil ahJ ?

(1) 6 Ω (2) 5 Ω

(3) 7 Ω (4) 4 Ω

127. bghU¤Jf :

(a) bghUë‹ (i) f© ghit

jiyÑHhd, bkŒ

Ã«g¤Âid

cUth¡FtJ

(b) f© ghitæDŸ (ii) fhh¦åah

EiHÍ« xë¡fÂh¦

fë‹ msit¡

f£L¥gL¤JtJ

(c) xë¡fÂh¦fŸ, (iii) Iç°

éê¤Âiuia

milÍ« ghijahf

ÂfœtJ

(d) xë¡fÂh¦fŸ (iv) éê¤Âiu

xëéyfyilªJ

by‹ì‹ ÛJ

Fé¡f¥gLtJ

(1) (a) - (iv), (b) - (iii), (c) - (i), (d) - (ii)

(2) (a) - (iv), (b) - (iii), (c) - (ii), (d) - (i)

(3) (a) - (iii), (b) - (iv), (c) - (ii), (d) - (i)

(4) (a) - (ii), (b) - (i), (c) - (iii), (d) - (iv)
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128. Pick out the correct pair/pairs :

(a) Radiation  - Heat is transferred in the

form of waves.  It can

occur even in vacuum.

(b) Conduction - Transfer of heat in fluids.

It doesn’t take place in

vacuum.

(c) Convection - Transfer of heat in solids.

It can occur in vacuum.

(1) (a) only

(2) (b) and (c) only

(3) (a) and (c) only

(4) (c) only

129. Correct the given statement.

The spectral lines having frequency equal

to the incident ray frequency is called

‘Raman Lines’.

(1) Rayleigh Lines

(2) Stokes Lines

(3) Anti Stokes Lines

(4) Tyndall Effect

128. rçahd Ïiz / Ïizfis¤

njh¦ªbjL¡fÎ« :

(a) bt¥g¡fÂh¦ Å¢R - bt¥g« miyfshf

všyh   ÂirfëY«

guÎ«.

b t ‰ ¿ l ¤ Â Y «

bt¥g¡fÂh¦ Å¢R

eilbgW«.

(b) bt¥g¡ fl¤jš - bt¥g¥ gçkh‰w«

Âut¥

bghUŸfS¡»ilna

ãfG«. bt‰¿l¤Âš

eilbgwhJ.

(c) bt¥g¢ ryd« - bt¥g¥ gçkh‰w«

Âl¥bghUŸfS-

¡»ilna ãfG«.

bt‰¿l¤ÂY«

eilbgW«.

(1) (a) k£L«

(2) (b) k‰W« (c) k£L«

(3) (a) k‰W« (c) k£L«

(4) (c) k£L«

129. ÑœtU« T‰¿id rç brŒf.

gLfÂç‹ mÂh¦bt©Q¡F rkkhd

mÂh¦bt©iz¡ bfh©l ãwkhiy

tçfŸ ‘Ïuhk‹ tçfŸ’ vd¥gL«.

(1) uhny tçfŸ

(2) °nlh¡ tçfŸ

(3) M©o °nlh¡ tçfŸ

(4) o©lhš éisÎ
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130. The only moon in the solar system that

moves in the opposite direction to the

direction in which its planet spins ?

(1) Sputnik

(2) Titan

(3) Ganymede

(4) Triton

131. The reason for using red light in traffic

signals to stop vehicles.

(1) Red light has shorter wavelength

(2) Red light has longer wavelength

(3) Red light is very bright and attractive

(4) Red light has highest angle of

refraction

130. Nça k©ly¤Âš, nfhë‹ RH‰Á¡F

vÂh¦Âiræš R‰W« xnu ãyÎ :

(1) °ò£å¡

(2) il£l‹

(3) fhåÛL

(4) oiu£lh‹

131. ngh¡Ftu¤J f£L¥gh£L és¡Ffëš

Át¥ò és¡F, thfd§fis

ãW¤Jtj‰F ga‹gL¤j¥gLtj‰fhd

fhuz« :

(1) Át¥ò és¡F Fiwªj miyÚs«

bfh©lJ.

(2) Át¥ò és¡F mÂf miyÚs«

bfh©lJ.

(3) Át¥ò és¡F ÃufhrkhfÎ«,

ftU« t©zK« cŸsJ.

(4) Át¥ò és¡F mÂf msÎ éyF

nfhz¤ij¡ bfh©lJ.
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132. Which one of the following is not related

to Joule’s Law of Heating ?

(1) H=I2Rt

(2) H=VIt

(3) H=VIRt2

(4) H=VQ

133. Convert 1 Kilowatt into Horsepower :

(1) 1.43 HP

(2) 746000 HP

(3) 1.34 HP

(4) 0.746 HP

134. Pick the odd one out :

(1) CCl
4

(2) NaCl

(3) CuCl
2

(4) CaCl
2

132. Ñœ¡f©lt‰¿š #]š bt¥g éÂnahL

bjhlh¦ò ÏšyhjJ vJ ?

(1) H=I2Rt

(2) H=VIt

(3) H=VIRt2

(4) H=VQ

133. 1 »nyhth£ msit FÂiu Âwåš

kh‰Wf :

(1) 1.43 HP

(2) 746000 HP

(3) 1.34 HP

(4) 0.746 HP

134. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) CCl
4

(2) NaCl

(3) CuCl
2

(4) CaCl
2
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135. Match the following :

(a) Tyndall Effect (i) separates

blood cells

from blood

samples

(b) Brownian (ii) separates

Movement different

coloured

dyes

(c) Centrifugation (iii) colloidal

particles

moves in zig-

zag direction

(d) Paper (iv) not observed

Chromatography in true

solution

(1) (a) - (iv), (b) - (iii), (c) - (i), (d) - (ii)

(2) (a) - (iii), (b) - (iv), (c) - (i), (d) - (ii)

(3) (a) - (iii), (b) - (i), (c) - (iv), (d) - (ii)

(4) (a) - (i), (b) - (iii), (c) - (ii), (d) - (iv)

136. The Law of Multiple Proportion was

proposed by :

(1) John Dalton

(2) Jeremias Ritcher

(3) Neil Bohr

(4) Rutherford

135. bghU¤Jf :

(a) o©lhš éisÎ  (i)   Ïu¤j¤ÂèUªJ

 Ïu¤j bršfis

 Ãç¤jš

(b) Ãbusåa‹        (ii)  gšntW

Ïa¡f«  rha§fis¥

 Ãç¤jš

(c) ika éy¡F      (iii)  Tœk

Kiw  JfŸfŸ

 m§Fä§Fkhf

 efh¦jš

(d) jhŸ           (iv)  c©ik¡

t©z¥Ãçif  fiurèš

Kiw                     fhz¥gL-

 tÂšiy

(1) (a) - (iv), (b) - (iii), (c) - (i), (d) - (ii)

(2) (a) - (iii), (b) - (iv), (c) - (i), (d) - (ii)

(3) (a) - (iii), (b) - (i), (c) - (iv), (d) - (ii)

(4) (a) - (i), (b) - (iii), (c) - (ii), (d) - (iv)

136. bgU¡fš é»j éÂia K‹bkhêªjth¦ :

(1) #h‹ lhšl‹

(2) b#çäah° ç£rh¦

(3) Úš nghh¦

(4) %jh¦ ~nghh¦£



16

19IIXCODE

137. Assertion (A) : Bronze is an alloy.

Reason (R) : Alloy bears the

characteristics of both

metal and non-metal.

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are wrong.

(3) (A) is correct but (R) doesn’t

explain (A).

(4) (A) is correct and (R) explains (A).

138. Find the odd one out :

(1) Galvanization

(2) Bessemerisation

(3) Electroplating

(4) Anodizing

137. T‰W (T) : bt©fy« xU

cnyhf¡fyit.

fhuz« (fh) : cnyhf¡ fyit

v‹gJ cnyhf« k‰W«

mnyhf« M»at‰¿‹

g©òfis

bfh©ljhF«.

(1) T‰W k‰W« fhuz« rç.

(2) T‰W k‰W« fhuz« jtW.

(3) T‰W rç Mdhš fhuz« T‰iw

és¡féšiy.

(4) T‰W rç k‰W« fhuz« T‰iw

és¡F»wJ.

138. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) ehf Kyh« óRjš

(2) bg°ìkuh¡fš

(3) ä‹ Kyh« óRjš

(4) Mndh£lh¡fš
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139. 2 PbO+C→2 Pb+CO
2 
is an example of

__________ reaction.

(1) Reduction

(2) Redox

(3) Oxidation

(4) Decomposition

140. The ratio of conc. HCl and conc. HNO
3 
in

‘King’s Water’ is :

(1) 4 : 1

(2) 1 : 4

(3) 3 : 1

(4) 1 : 3

139. 2 PbO+C→2 Pb+CO
2
 Ï›éid vj‰F

vL¤J¡fh£lhf és§F»wJ ?

(1) xL¡f«

(2) M¡ì#nd‰w xL¡f«

(3) M¡ì#nd‰w«

(4) ÁijÎWjš

140. Ïuh# Âut¤Âš mlh¦ iA£nuh Fnshç¡

k‰W« mlh¦ ie£ç¡ mäy¤Â‹

é»jhrhu« :

(1) 4 : 1

(2) 1 : 4

(3) 3 : 1

(4) 1 : 3
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141. Find the incorrect pair :

(1) Ammonium - removes

Hydroxide grease stains

from clothes

(2) Calcium - white

Hydroxide washing of

building

(3) Sodium -       manufacture

Hydroxide of soap

(4) Magnesium -       manufacture

Hydroxide of fertilizers

142. Which one of the following resin codes in

plastic items are unsafe ?

(1) 1, 2, 3

(2) 3, 6, 7

(3) 3, 4, 5

(4) 5, 6, 7

141. bghUªjhj Ïizia f©l¿f :

(1) m«nkhåa« -  JâfëYŸs

iA£uh¡irL     v©bzŒ

   fiuia

   Ú¡F»wJ.

(2) fhšÁa« - f£ol§fS¡F

iA£uh¡irL    R©zh«ò   ór

  ga‹gL»wJ.

(3) nrhoa« - nrh¥ò jahç¡f

iA£uh¡irL    ga‹gL»wJ.

(4) bk¡ÜÁa« - cu« jahç¡f¥

iA£uh¡irL    ga‹gL»wJ.

142. Ã‹tU« be»ê buÁ‹ F¿pLfëš vJ

ghJfh¥g‰wJ ?

(1) 1, 2, 3

(2) 3, 6, 7

(3) 3, 4, 5

(4) 5, 6, 7
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143. Ã‹tU« thÍ¡fëš vJ mÂf e¢R¤

j‹ikÍ«, vëÂš Ô¥g‰w¡

ToaJkhF« ?

(1) CO (2) CO
2

(3) CS
2

(4) CaC
2

144. ehndh JfŸfë‹ ãiya‰w j‹ik¡F

fhuz« :

(1) Úuh‰gF¤jš (2) Únu‰w«

(3) vçô£lš (4) xL¡f«

145. kiw¡f¥g£l ifnuiffŸ __________

ga‹gh£odhš Cjh t©zkhf

bjç»wJ.

(1) irndh m¡çny£

(2) bgh£lhÁa« il Fnuhnk£

(3) ã‹iA£ç‹

(4) Ášth¦ ie£nu£

143. Which among the following is highly toxic

and inflammable gas ?

(1) CO (2) CO
2

(3) CS
2

(4) CaC
2

144. The reason for unstability of nano

particles :

(1) Hydrolysis (2) Hydration

(3) Combustion (4) Reduction

145. Occult fingerprints are made visible by the

use of __________ which turns purple.

(1) Cyano acrylate

(2) Potassium di-chromate

(3) Nin-hydrin

(4) Silver nitrate
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146. Úy é£çahè‹ rçahd N¤Âu¤ij

f©l¿f :

(1) CuSO
4
⋅5 H

2
O

(2) CuSO
4
⋅7 H

2
O

(3) CuSO
4
⋅6 H

2
O

(4) CuSO
4
⋅9 H

2
O

147. Nça xë g£L ghu‹ifkh bršfŸ

Fnshnuh Ãsh°il cUth¡F« nghJ

mit __________ vd¥gL«.

(1) nfhy‹ifkh

(2) FnuhnkhÃsh°£

(3) Fnshu‹ifkh

(4) Vbu‹ifkh

148. xë¢nrh¦¡if¡fhd rçahd

rk‹gh£oid jUf :

(1) Na
2
CO

3 
+2HCl →

xë¢nrh¦¡if
g¢ira«

2NaCl+H
2
O+CO

2 
↑

(2) 6CO
2
+6H

2
O →

xë¢nrh¦¡if
g¢ira«

C
6
H

12
O
6
+6O

2 
↑

(3) 3H
2
O

2
+6CO

2
 →

xë¢nrh¦¡if
g¢ira«

C
6
H

6
O
6
+6O

2 
↑

(4) H++H
2
O→H

3
O+

146. Pick out the correct formula for blue

vitriol :

(1) CuSO
4
⋅5 H

2
O

(2) CuSO
4
⋅7 H

2
O

(3) CuSO
4
⋅6 H

2
O

(4) CuSO
4
⋅9 H

2
O

147. When exposed to sunlight, parenchyma

cells may develop chloroplasts and are

known as __________.

(1) Collenchyma

(2) Chromoplast

(3) Chlorenchyma

(4) Aerenchyma

148. Give the correct equation of

photosynthesis :

(1) Na
2
CO

3
+2HCl

Photosynthesis
Chlorophyll

→

2NaCl+H
2
O+CO

2 
↑

(2) 6CO
2
+6H

2
O 

Photosynthesis
Chlorophyll

→

C
6
H

12
O
6
+6O

2 
↑

(3) 3H
2
O

2
+6CO

2
 

Photosynthesis
Chlorophyll

→

C
6
H

6
O
6
+6O

2 
↑

(4) H++H
2
O→H

3
O+
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149. Áy gh¡Oçahéš, brš RtU¡F

btëna cŸs __________ v‹w

bkšèa Jiz ghJfh¥ò mL¡F

__________ Mš MdJ.

(1) btë¤njhš, nkhndh

rh¡fiuLfŸ

(2) o.v‹.V., ik£nlhfh©oçah

(3) fh¥Nš, ghè rh¡fiuLfŸ

(4) iunghnrh«fŸ, òuj§fŸ

150. Úh¦ jhtu§fë‹ jftik¥òfëš

jtwhd T‰W/T‰WfŸ vit ?

(a) fh‰wiw¥ igfŸ mt‰¿‰F

cWÂj‹ikia jU»‹wd

(b) äj¡F« ÏiyfŸ F£ilahd

Ïiy¡fh«òfSl‹ ÏU¡F«

(c) nth¦fŸ e‹F tsh¦¢Áailahkš

ÏU¡F«

(d) Úçš _œ»a ÏiyfŸ mf‹W«,

bgçajhfÎ« ÏU¡F«

(1) (a) k£L«

(2) (b) k‰W« (d) k£L«

(3) (c) k£L«

(4) (a) k‰W« (c) k£L«

149. In some bacteria, outside the cell wall,

there is an additional slimy protective layer

called __________ made up of

__________ .

(1) Epiderm, monosaccharides

(2) DNA, mitochondria

(3) Capsule, polysaccharides

(4) Ribosomes, protein

150. Which is/are wrong about the adaptation

of hydrophytes ?

(a) Air chambers provide mechanical

support to plant

(b) Floating leaves have short leaf stalk

(c) Roots are poorly developed

(d) Submerged leaves are broad and big

(1) (a) only

(2) (b) and (d) only

(3) (c) only

(4) (a) and (c) only
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151. ‘AYUSH’ v‹gJ Ñœ¡f©l vªj

kU¤Jt Kiwia F¿¡»‹wJ ?

(1) Ídhå

(2) Á¤jh

(3) MÍh¦ntjh

(4) nk‰f©l mid¤J«

152. jhtu cŸsik¥Ãaè‹ jªij :

(1) befkŒah ¡%

(2) uhÃ‹ ïš

(3) rh¡°

(4) nfhè¡fh¦

153. T‰W (T) : Ïiy JisahdJ

ÂwªJ« _oÍ« brašgLtJ fh¥ò

bršfë‹ éiw¥gG¤j khWghLfshš

eilbgW»wJ.

fhuz« (fh) : Ïiyæ‹ òw¤njhš

Jis têahf ÚuhdJ Méahf

btënaWtJ Úuhé ngh¡F vd¥gL«.

(1) T‰W rç k‰W« fhuz« jtW.

(2) T‰W jtW k‰W« fhuz« rç.

(3) T‰W rç Mdhš fhuz« T‰iw

és¡féšiy.

(4) T‰W rç k‰W« fhuz« T‰iw

és¡F»wJ.

151. ‘AYUSH’ refers to the systems of

medicines of :

(1) Unani

(2) Siddha

(3) Ayurveda

(4) All of the above

152. Father of Plant Anatomy :

(1) Nehemiah Grew

(2) Robin Hill

(3) Sachs

(4) Kolliker

153. Assertion (A) : The opening and closing

of the stomata is due to change in turgidity

of the guard cell.

Reason (R) : Evaporation of water in

plants through stomata in leaves is called

Transpiration.

(1) (A) is correct and (R) is incorrect.

(2) (A) is incorrect and (R) is correct.

(3) (A) is correct but (R) doesn’t

explain (A).

(4) (A) is correct and (R) explains (A).
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154. éUªnjh«Ãæ‹ clèš x£o¡

bfhŸS« m£il, cäœÚh¦

Ru¥ÃfëYŸs __________ _y«

bjhlh¦¢Áahf Ïu¤j¤ij

c¿ŠR»‹wJ.

(1) ngh£çahŒlš ÂR

(2) ghunghoah

(3) ïUo‹

(4) Ó£nl

155. Ïja¤Â‹ ‘ng° nk¡fh¦’ Mf

brašgLtJ :

(1) nk‰bgUŠÁiw

(2) irndh V£çaš fQ

(3) bgUªjkå tisÎ

(4) ÑœbgUŠÁiw

156. rçahd Ïizia¤ njh¦ªbjL¡fÎ« :

(1) Rh fhuâ - ny©£ °Odh¦ k‰W«

   Ådh¦

(2) Ïu¤j X£l k©ly« - ofh°onyh

 k‰W«

 °blŒå

(3) AB Ïu¤j tif - éšèa« Ahh¦é

(4) ò®»‹í f‰iwfŸ -  éšbA«

ï°

154. When leech attaches itself to the body of

the host, continuous supply of blood is

maintained by the presence of __________

in its salivary gland.

(1) botryoidal tissue

(2) parapodia

(3) hirudin

(4) setae

155. Which acts as the ‘Pacemaker of the

Heart’ ?

(1) Superior Venacava

(2) Sino Atrial Node

(3) Aortic Arch

(4) Inferior Venacava

156. Pick out the incorrect pair :

(1) Rh Factor - Lansteiner and Wiener

(2) Circulation of Blood - Dacastello and

Steini

(3) AB Blood Group - William Harvey

(4) Purkinje Fibre - Wilhelm His
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157. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) í#&d«

(2) Ïèa«

(3) Ó¡f«

(4) Flš c¿ŠÁfŸ

158. Á‰¿il Ïiz¥ò¤ ÂRé‹ gâfŸ :

(a) ÏJ njhiy jirÍl‹

Ïiz¡»wJ.

(b) cW¥òfë‹ c£gFÂ

Ïilbtëia ãu¥ò»wJ.

(c) clY¡F tot¤ijÍ«,

bk‹ÂR¡fS¡F«,

cŸSW¥òfS¡F« ghJfh¥igÍ«

më¡»‹wd.

(d) fhakilªj ÂR¡fis¥ gGJ

ghh¦¡»‹wd.

(1) (a) k‰W« (d) k£L«

(2) (a), (b) k‰W« (c) k£L«

(3) (a), (b) k‰W« (d) k£L«

(4) nk‰f©l mid¤J«

157. Find the odd man out :

(1) Jejunum

(2) Ileum

(3) Caecum

(4) Villi

158. Functions of areolar connective tissues :

(a) joins skin to muscle.

(b) fills space inside organs.

(c) provides shape to body and protects

soft tissues and organs.

(d) helps to repair tissues after injury.

(1) (a) and (d) only

(2) (a), (b) and (c) only

(3) (a), (b) and (d) only

(4) All of the above
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159. bghU¤Jf :

(a) £ç¥ì‹ (i) bfhG¥ig ÁW

Jëfshf

kh‰W»wJ

(b) mäny° (ii) òuj¤Â‹ ÛJ

brašgL»wJ

(c) Ã¤j Úh¦ (iii) bfhG¥ig

 brç¡F«

(d) è¥ng° (iv) °lhh¦¢ir

khšnlhrhf

cil¡»wJ

(1) (a) - (ii), (b) - (i), (c) - (iii), (d) - (iv)

(2) (a) - (iii), (b) - (ii), (c) - (i), (d) - (iv)

(3) (a) - (ii), (b) - (iv), (c) - (i), (d) - (iii)

(4) (a) - (iv), (b) - (iii), (c) - (ii), (d) - (i)

160. Ïja¤Âš _‹W miwfis¡ bfh©l

cæçd« :

(1) òè (2) vè

(3) jtis (4) Û‹

159. Match the following :

(a) Trypsin (i) Converts fat

to smaller droplets

(b) Amylase (ii) Acts on protein

(c) Bile (iii) Digests fat

(d) Lipase (iv) Breakdown

starch to maltose

(1) (a) - (ii), (b) - (i), (c) - (iii), (d) - (iv)

(2) (a) - (iii), (b) - (ii), (c) - (i), (d) - (iv)

(3) (a) - (ii), (b) - (iv), (c) - (i), (d) - (iii)

(4) (a) - (iv), (b) - (iii), (c) - (ii), (d) - (i)

160. Which among the following has three

chambered heart ?

(1) Tiger (2) Rat

(3) Frog (4) Fish
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SOCIAL SCIENCE / \‰P AÔÂ¯À

161. ‘Never was so much owed by so many to

so few’ was the saying of :

(1) Mussolini

(2) Hitler

(3) Winston Churchill

(4) Woodrow Wilson

162. Match the following :

(a) Chinese (i) Hammurabi’s Law

civilization Code

(b) Mesopotamian (ii) Invention of Gun

civilization Powder

(c) Indus Valley (iii) The Great Sphinx

civilization

(d) Egyptian (iv) Developed the

civilization system of weights

and measures

(1) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(3) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(4) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

161. ‘äf ÁyU¡F äf mÂfkhdth¦fŸ äf

mÂfkhf flik¥g£lJ Ïj‰F K‹ò

elªjÂšiy’ - v‹w Ï¡T‰W

ahUilaJ ?

(1) Knrhèå

(2) ï£yh¦

(3) é‹°l‹ rh¦¢Áš

(4) c£nuh éšr‹

162. bghU¤Jf :

(a) Ód ehfçf« (i) AKuhÃæ‹

r£l¤ bjhF¥ò

(b) bkrgnlhäa (ii) bto kUªJ

ehfçf« f©LÃo¥ò

(c) ÁªJ btë (iii) Ãu«kh©l

ehfçf« °Ã§¡ì‹

(d) v»¥Âa (iv) vilfisÍ«

ehfçf« msÎfisÍ«

Kiw¥gL¤Âdh¦

(1) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

(2) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

(3) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

(4) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
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163. Find the odd one out :

(1) Kurinjipattu

(2) Pattinapalai

(3) Aingurunuru

(4) Nedunal Vadai

164. Identify the two cities in India which

started declining in 1750’s due to the

increasing power of the European

Companies :

(1) Madras and Bombay

(2) Calcutta and Madras

(3) Surat  and Hoogly

(4) Hoogly and Madras

165. Utopia, a satire on political evil was

written by :

(1) Sir Thomas More

(2) Cervantes

(3) Erasmus

(4) Machiavelli

163. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) F¿ŠÁ¥gh£L

(2) g£od¥ghiy

(3) I§FWüW

(4) beLešthil

164. 1750 -fëš M§»y »H¡»ªÂa

f«bgåæ‹ MÂ¡f¤Â‹

tsh¦¢Áædhš rça bjhl§»a ÏU

ÏªÂa efu§fŸ :

(1) kjuh° k‰W« g«ghŒ

(2) fšf¤jh k‰W« kjuh°

(3) Nu¤ k‰W« A]¡ë

(4) A]¡ë k‰W« kjuh°

165. c£nlh¥Ãah v‹w muÁaš Ôikfis¥

g‰¿a ieah©o üiy vGÂath¦ :

(1) rh¦ jhk° _h¦

(2) br®th‹o°

(3) Vuh°k°

(4) kh¡»abtšè
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166. Assertion (A) : Men disguised as Native

American boarded the cargo vessel

carrying tea and threw the tea overboard

which was hailed as ‘Boston Tea Party’.

Reason (R) : This incident led to the

compromise between England and

rebellious colonies.

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is correct but (R) does not explain

(A).

(4) (A) is correct and (R) explains (A).

167. Arrange the following events in the

chronological order :

(a) Great Depression

(b) Battle of Marne

(c) Fascist Party

(d) Battle of Jutland

(1) (a), (c), (b), (d)

(2) (b), (d), (c), (a)

(3) (d), (a), (c), (b)

(4) (a), (d), (b), (c)

166. T‰W (T) : óh¦t mbkç¡f¡

Fok¡fis¥ nghš khW ntl« ó©l Áyh¦

njæiyia RkªJ tªj ru¡F

f¥gèèUªJ njæiyia flèš ÅÁdh¦.

ÏªãfœÎ ‘gh°l‹ njÚh¦ éUªJ’ vd

th¦â¡f¥g£lJ.

fhuz« (fh) : Ïªãfœé‹ fhuzkhf

Ï§»yhªÂ‰F«, »sh¦¢Áæš <Lg£l

Fona‰w ehLfS¡Fäilna rkhjhd«

V‰gl têtF¤jJ.

(1) T‰W k‰W« fhuz« rç.

(2) T‰W k‰W« fhuz« jtW.

(3) T‰W rç Mdhš fhuz« T‰iw

és¡féšiy.

(4) T‰W rç k‰W« fhuz« T‰iw

és¡F»wJ.

167. Ã‹tU« ãfœÎfis fhy»uk¥go

tçir¥gL¤jÎ« :

(a) bghUshjhu bgUkªj«

(b) khh¦‹ nghh¦

(c) ghÁr¡ f£Á

(d) #&£yhªJ nghh¦

(1) (a), (c), (b), (d)

(2) (b), (d), (c), (a)

(3) (d), (a), (c), (b)

(4) (a), (d), (b), (c)
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168. The founder of Widow Remarriage

Association :

(1) M.G. Ranade

(2) Devendranath Tagore

(3) Jyotiba Phule

(4) Ayyankali

169. The number of  member countries in UNO

as in August 2019 :

(1) 190 (2) 194

(3) 192 (4) 193

170. The British Engineer who diverted the flow

of Periyar River towards East and built a

dam in Tamil Nadu :

(1) Colonel Penny Cuick

(2) Arthur Cotton

(3) Robert Clive

(4) Leopold II

171. Find the incorrect statement :

(1) Prakrit was the language spoken by

the people during Mauryan Period.

(2) Erythrean Sea refers to the water

around the Red Sea.

(3) The Cheras wore garlands made

from the flowers of neem tree.

(4) Nalli, Ai, Kari and Pegan were

Velirs.

168. éjit kWkz r§f¤ij

V‰gL¤Âath¦ :

(1) v«.í. uhdnl

(2) njntªÂueh¤ jhTh¦

(3) n#hÂgh óny

(4) mŒa‹ fhë

169. Mf°£ 2019 -‹ go I¡»a ehLfŸ

rigæ‹ cW¥ò ehLfë‹ v©â¡if :

(1) 190 (2) 194

(3) 192 (4) 193

170. bgçahh¦ M‰¿‹ Úiu »H¡F neh¡»

ÂU¥Ã jäœeh£oš mizia f£oa

M§»y bgh¿ahsh¦ :

(1) fh¦dš bg‹åFæ¡

(2) Mh¦¤jh¦ fh£l‹

(3) Ïuhgh¦£ »is›

(4) Ïu©lh« ènah nghšL

171. jtwhd T‰iw¤ njh¦ªbjL¡fÎ« :

(1) Ãuh»Uj bkhê bksçah¦ fhy¤Âš

ngr¥g£l bkhêahF«.

(2) br§fliy R‰¿ÍŸs fl‰gu¥ò,

vç¤Âça‹ flyhF«.

(3) nru®fŸ nt¥g«ó khiy

mâªjdh¦.

(4) eŸë, MŒ, fhç k‰W« ngf‹

M»nahh¦ ntëh¦fŸ Mth¦.
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172. The difference in Local time between

Gujarat and Arunachal Pradesh :

(1) 1 hour 57 minutes 12 seconds

(2) 1 hour 56 minutes 13 seconds

(3) 1 hour 52 minutes 28 seconds

(4) 1 hour 55 minutes 10 seconds

173. Laccadive, Minicoy and Amindivi was

renamed as ‘Lakshadweep Island’ in the

year __________.

(1) 1983 (2) 1973

(3) 1993 (4) 1975

174. Pick the odd man out :

(1) Wulur Lake (2) Dal Lake

(3) Nainital Lake (4) Chilka Lake

175. In India, bauxite deposits are abundantly

found in :

(1) Rajasthan

(2) Odisha

(3) Jammu and Kashmir

(4) Andhra Pradesh

172. F#uh¤ khãy¤Â‰F«, mUzh¢ry¥

Ãunjr¤Â‰F« Ïilna cŸs jy neu

ntWghL :

(1) 1 kâ 57 ãäl« 12 édhofŸ

(2) 1 kâ 56 ãäl« 13 édhofŸ

(3) 1 kâ 52 ãäl« 28 édhofŸ

(4) 1 kâ 55 ãäl« 10 édhofŸ

173. Ïy£r¤ ÔÎ, äå¡fhŒ k‰W« mäå¤

ÔÎ T£l§fŸ ‘Ïy£r¤ ÔÎfŸ’ vd

__________ M©L Kjš

miH¡f¥gL»wJ.

(1) 1983 (2) 1973

(3) 1993 (4) 1975

174. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) Cyhh¦ Vç (2) lhš Vç

(3) ieålhš Vç (4) Ášfh Vç

175. ÏªÂahéš gh¡ir£ mÂf mséš

fhz¥gL« khãy« :

(1) uh#°jh‹

(2) xoõh

(3) #«K k‰W« fhZÛh¦

(4) MªÂu Ãunjr«



31

19IIXCODE

176. The company which provides Helicopter

services to Oil and Natural Gas

Corporation :

(1) Indian Airlines

(2) Air India

(3) Pawan Hans

(4) Vayu doot

177. Pick out the odd one out :

(1) Almora

(2) Shiwaliks

(3) Ranikhet

(4) Chamba

178. Match the following :

Rivers Origin

(a) Tapti (i) Amarkantak

(b) Narmada (ii) Sihawa

(c) Godavari (iii) Multai

(d) Mahanadi (iv) Nasik

(1) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(3) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(4) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)

176. v©bzŒ k‰W« Ïa‰if vçthÍ

ãWtd¤Â‰F thDy§F Ch¦Â nrit

më¡F« ãWtd« :

(1) ÏªÂa‹ Vh¦iy‹°

(2) Vh¦ ÏªÂah

(3) gt‹ Ah‹°

(4) thÍ ö¤

177. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) mšnkhuh

(2) Áthè¡

(3) uhåf£

(4) r«gh

178. bghU¤Jf :

eÂfŸ    c‰g¤ÂahF«

   Ïl«

(a) jgÂ (i)     mkh¦f©lh¡

(b) eh¦kjh (ii) Áfhth

(c) nfhjhtç (iii) KšlhŒ

(d) kfheÂ (iv) ehÁ¡

(1) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(2) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

(3) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(4) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
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179. Statement (I) : 75% of Indian rainfall is

received from South-West monsoon.

Statement (II) : Tamil Nadu which is

located in the leeward side receives

abundant rainfall.

(1) Statement (I) and (II) are correct.

(2) Statement (I) and (II) are incorrect.

(3) Statement (I) is correct and (II) is

incorrect.

(4) Statement (I) is incorrect and (II) is

correct.

180. ________ are long furrows which are

formed when the joints of limestone rocks

are corrugated by groundwater.

(1) Sink holes

(2) Caverns

(3) Stalactites

(4) Lappies

179. T‰W (I) :  ÏªÂahé‹ bkh¤j kiH¥

bghêéš 75% kiH¥ bghêthdJ

bj‹nk‰F gUt¡fh‰W fhy¤Âš

»il¡»wJ.

T‰W (II) : jäœehL, kiy kiwÎ¥

gFÂæš mikªJŸsjhš mÂf

kiHia bgW»wJ.

(1) T‰W (I) k‰W« (II) rç.

(2) T‰W (I) k‰W« (II) jtW.

(3) T‰W (I) rç (II) jtW.

(4) T‰W (I) jtW (II) rç.

180. fuL Kulhf cŸs R©zh«ò¥

ghiwfS¡»ilna ãy¤jo Úh¦ beëªJ

XL« nghJ Ú©l mç¥ò FilÎfŸ

V‰gLtJ  _________ vd miH¡f¥gL«.

(1) c¿ŠR JisfŸ

(2) mo ãy¡ FiffŸ

(3) fš éGJfŸ

(4) ny¥Õ°
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181. Which among the following statement/

statements is/are correct ?

(a) Troposphere is called ‘Weather

making layer’.

(b) Exosphere is characterised by

Aurora Australis and Aurora

Borealis.

(c) Thermosphere is called

Ozonosphere.

(d) Stratosphere is referred as

Homosphere/Heterosphere.

(1) (a) and (b) only

(2) (c) and (d) only

(3) (a) only

(4) (a), (b) and (c) only

182. The significance of ‘The Grand Banks’ of

New Foundland :

(1) Mining activities

(2) Oil drilling

(3) Fishing ground

(4) Mineral fuels

181. ÑœtUtdt‰WŸ rçahd T‰W/

T‰Wfis njh¦ªbjL¡fÎ« :

(a) tëk©ly ÑHL¡F ‘thåiyia

cUth¡F« mL¡F’

v‹wiH¡f¥gL»wJ.

(b) btëaL¡»š mnuhuh

M°£çahè° k‰W« mnuhuh

bghçahè° ngh‹wit

ãfœ»‹wd.

(c) bt¥g mL¡F, xnrhndh°Ãah¦

v‹wiH¡f¥gL»wJ.

(d) ÛŸ mL¡F, nAhnkh°Ãah¦/

bA£nuh°Ãah¦ vd

miH¡f¥gL»wJ.

(1) (a) k‰W« (b) k£L«

(2) (c) k‰W« (d) k£L«

(3) (a) k£L«

(4) (a), (b) k‰W« (c) k£L«

182. ãô gÎ©£yhªÂYŸs ‘»uh©£

gh§»‹’ K¡»a¤Jt« :

(1) Ru§f elto¡if

(2) MœJis¡ »zWfŸ _y«

v©bzŒ vL¤jš

(3) Û‹Ão¤ js«

(4) vçr¡Â fåk§fŸ
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183. ‘muÁayik¥Ã‹ ÂwÎnfhš’ vd¡

F¿¥Ãl¥gLtJ :

(1) mo¥gil cçikfŸ

(2) KfÎiu

(3) muR be¿KiwÍW¤j«

nfh£ghLfŸ

(4) mtrufhy V‰ghLfŸ

184. FoauR¤ jiytU¡fhd nj®jèš

ngh£oæLtj‰fhd Ñœfh© jFÂfëš

jtwhd T‰W/T‰Wfis¡ fh©f :

(a) ÏªÂa Fokfdhf ÏU¤jš

nt©L«.

(b) ÏUg¤ijªJ taJ óh¦¤Â

milªjtuhf ÏU¤jš nt©L«.

(c) ÏªÂahé‹ vªj gFÂæY« muR

mik¥òfëš CÂa« bgW«

gjéæš ÏU¤jš TlhJ.

(d) ehlhSk‹w« mšyJ khãy

r£l¥nguitæš cW¥Ãduhf

ÏU¤jš nt©L«.

(1) (b) k£L«

(2) (a) k‰W« (c) k£L«

(3) (b) k‰W« (d) k£L«

(4) (a), (c) k‰W« (d) k£L«

183. _________ has been described as the ‘Key

to the Constitution’.

(1) Fundamental Rights

(2) Preamble

(3) Directive Principles of State Policy

(4) Emergency Provision

184. Which among the statements related to the

qualification for the election as President

is/are incorrect ?

(a) He should be a citizen of India.

(b) He must have attained the age of

twenty five years.

(c) He must not hold any office of profit

anywhere in India.

(d) He must be a member of Parliament

or State Legislature.

(1) (b) only

(2) (a) and (c) only

(3) (b) and (d) only

(4) (a), (c) and (d) only
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185. ÏªÂahé‹ 12 -tJ FoauR¤ jiyth¦

ahh¦ ?

(1) lh¡lh¦ V.Ã.n#. m¥Jš fyh«

(2) ÂUkÂ ÃuÔgh gh£Oš

(3) lh¡lh¦ Ãuzh¥ Kfh¦í

(4) lh¡lh¦ nf.Mh¦. ehuhaz‹

186. r£l¥ÃçÎ 216 -‹ go gâak®-

¤j¥gLgth¦ :

(1) cah¦ ÚÂk‹w ÚÂgÂ

(2) c¢r ÚÂk‹w ÚÂgÂ

(3) FoauR¤ jiyth¦

(4) Ãujk kªÂç

187. éÂ 49 - O F¿¥ÃLtJ :

(1) njh¦jš eilKiwfë‹

btë¥gil¤j‹ik.

(2) njh¦jš RjªÂukhfÎ«

ãahakhfÎ« el¤Jtj‰fhd

elto¡if.

(3) f£Áfë‹ njh¦jš bryÎfis¤

jâ¡if brŒÍ« elto¡if.

(4) njh¦jèš ngh£oæL«

nt£ghsh¦fŸ vtiuÍ«

njh¦ªbjL¡f éU¥gäšiy.

185. Who was India’s 12th President ?

(1) Dr. A.P.J. Abdul Kalam

(2) Mrs. Pratibha Patil

(3) Dr. Pranab Mukherjee

(4) Dr. K.R. Narayanan

186. Who is appointed according to

Article 216 ?

(1) Chief Justice of High Court

(2) Chief Justice of India

(3) President

(4) Prime Minister

187. Rule 49 - O describes :

(1) Transparency of the election

proceedings.

(2) Conduct of free and fair election.

(3) Auditing procedure of the

expenditure incurred by the

contesting party.

(4) Not willing to elect any candidate.
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188. jfty¿Í« cçik¢ r£l¤ÂèUªJ

éy¡F më¡f¥g£LŸs mik¥ò :

(1) fšé¤ Jiw

(2) csÎ¤ Jiw¥ gâaf«

(3) efuh£Á

(4) »uhk gŠrha¤J

189. òÂa jäHf gŠrha¤J uh{ Â£l«

eilKiw¥gL¤j¥g£l M©L :

(1) 1993 (2) 1994

(3) 1995 (4) 1992

190. bghUªjhjij¤ njh¦ªbjL¡fÎ« :

(1) mUzh uhŒ

(2) mh¦éª¤ bf{çthš

(3) äjhè uh{

(4) ãfš nj›

191. njÁa kåj cçikfŸ Miza¤Â‹

Kjš jiyth¦ :

(1) ÚÂgÂ gh¤Âkh Õ

(2) ÚÂgÂ  v¢.vš. l£L

(3) ÚÂgÂ n#.v°. th¦kh

(4) ÚÂgÂ u§feh¤ ä°uh

188. __________ is exempted from RTI Act :

(1) Education Department

(2) Intelligence Bureau

(3) Municipal Corporation

(4) Village Panchayat

189. The new Panchayat Raj came into being

in Tamil Nadu :

(1) 1993 (2) 1994

(3) 1995 (4) 1992

190. Pick the odd man out :

(1) Aruna Roy

(2) Arvind Kejrival

(3) Mithali Raj

(4) Nikil Dev

191. The first chairman of National Human

Rights Commission :

(1) Justice Fathima Bee

(2) Justice H.L. Dattu

(3) Justice J.S. Verma

(4) Justice Ranganath Misra
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192. Fok¡fë‹ mo¥gil cçikfis

cWÂ brŒÍ« nguhiz vJ ?

(1) Mtz¡ nf£ò nguhiz

(2) f£lisÍW¤J« ÚÂ¥nguhiz

(3) jFÂ édÎ« ÚÂ¥nguhiz

(4) jilÍW¤J« ÚÂ¥nguhiz

193. POCSO r£l« bfh©Ltu¥g£l M©L :

(1) 2012 (2) 2009

(3) 2010 (4) 2011

194. bghU¤Jf :

(a) ãfu eh£L   (i) bkh¤j cŸeh£L

c‰g¤Â c‰g¤Â −

njŒkhd«

(b) bkh¤j cŸeh£L (ii) bkh¤j  eh£L

c‰g¤Â c‰g¤Â −

njŒkhd«

(c) ãfu cŸeh£L   (iii) GMP=C+I+G+

c‰g¤Â (X−M)+NFIA

(d) bkh¤j eh£L   (iv) GDP=C+I+G+

c‰g¤Â (X−M)

(1) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(3) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(4) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

195. bghUªjhij¤ njh¦ªbjL¡fÎ« :

(1) ÏU«ò (2) ku«

(3) ãy¡fç (4) f©zho

192. Which writ upholds the fundamental

rights of the citizen ?

(1) Certiorari

(2) Mandamus

(3) Quo-warranto

(4) Prohibition

193. POCSO Act was passed in the year :

(1) 2012 (2) 2009

(3) 2010 (4) 2011

194. Match the following :

(a) Net National (i) GDP−Depreciation

Product

(b) Gross Domestic (ii) GNP−Depreciation

Product

(c) Net Domestic (iii) GMP=C+I+G+

Product (X−M)+NFIA

(d) Gross National (iv) GDP=C+I+G+

Product (X−M)

(1) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(2) (a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)

(3) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

(4) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

195. Pick the odd one out :

(1) Iron (2) Wood

(3) Coal (4) Glass
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196.  “An Uncertain Glory” v‹w üè‹

MÁçah¦ :

(1) É‹ nghjh‹

(2) rhKntšr‹

(3) Ml« °ä¤

(4) mkh¦¤Âah br‹

197. ÏªÂahéš Nça r¡Â _y« mÂf

ä‹rhu« c‰g¤Â brŒÍ« khãy« :

(1) bjY§fhdh (2) fh¦ehlf«

(3) jäœehL (4) nfush

198. czÎ mšyJ bjhê‰rhiy c‰g¤Âæ‹

nghJ Efu¥gL« Úh¦ :

(1) kiw Úh¦ (2) kiH Úh¦

(3) fod Úh¦ (4) bk‹ Úh¦

199. xU bghUshjhu¤Â‹ c©ikahd

K‹nd‰w¤ij ms¥gj‰fhd F¿pL :

(1) GDP (2) HDI

(3) IIP (4) CPI

200. 2018 -M« M©oš bghUshjhu¤Â‰F

nehgš gçR bg‰wth¦ :

(1) mkh¦¤Âah br‹

(2) ç¢rh¦£ jhyh¦

(3) éšèa« D. ehh¦lh° k‰W« gÎš

M. nuhkh¦

(4) Mèth¦ Ahh¦£ k‰W« bg§£

M«°ouh«

- o O o -

196. The author of the book “An Uncertain

Glory” :

(1) Jean Bodin

(2) Samuelson

(3) Adam Smith

(4) Amartya Sen

197. The leading Solar Power producing state

in India :

(1) Telangana (2) Karnataka

(3) Tamil Nadu (4) Kerala

198. The water consumed in production process

of an agricultural and industrial product :

(1) Virtual Water (2) Rain Water

(3) Hard Water (4) Soft Water

199. An index used to measure the real

development in an economy :

(1) GDP (2) HDI

(3) IIP (4) CPI

200. The Noble Prize Winner in Economics in

2018 :

(1) Amartya Sen

(2) Richard Thaler

(3) William D. Nordhaus and Paul

M. Romer

(4) Oliver Hart and Bengt Holmstorm

- o O o -
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